


 

دم لكم في ھذه الدوسیة شرح مادة أنظمة قوى كھربائیة، تتضمن الدوسیة أمثلة الكتاب قأ
عدم المقدرة على لوبعض الاسئلة، لكن ھناك دروس غیر مشروحة منھا المحذوف ومنھا 

التمكن منھا لانعدام مصادر الشرح الخاصة بھا، لذلك أعتذر عن ھذا التقصیر، ویجب أیضًا  
ل جمیع الأسئلة لمعرفة جمیع الأفكار، مع خالص الأمنیات لكم  على الكتاب وح الاطلاع

.بالتوفیق والنجاح  

 أنظمة قوى كھربائیة



 

Ch 2 Fundamental 

2.1 Phasors 
 A sinusoidal voltage or current at constant frequency is characterized by two 
parameters: a maximum value and a phase angle 

V(t) =  Vmax cos(ωt + θV) → instantaneous value 

 
V = Vrms∠θV → polar form 
 
V = VrmsejθV → exponential form 
 V = Vrmscos(θV) + j Vrmssin(θV) → rectangular form 
 

V(rms) =
Vmax
√2

 

 

- The relationships between the voltage and current phasors for the three 
passive elements: resistor, inductor, and capacitor. 
 

InPhase 

(Resistor) 

I Lag V by 90° 

(Inductor) 

I lead V by 90° 

(Capacitor) 
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2.2 Instantaneous Power in Single-Phase AC Circuits 
 

- The instantaneous power absorbed by the load is then: 
 P(t)= VrmsIrms cos(2ωt + θV + θI) + V rmsIrmscos(θV − θI) 
 

- The instantaneous power absorbed by the resistor is: 

P(t) = VrmsIrms[1 + cos2(ωt + θV)] 
 

في للمعادلات اشتقاق بالكتاب  
بالاشتقاق  مطالبینغیر  لكن

للعلم   بالقانون لكن فقط مطالبین 
علیھ.   الاطلاعبالشيء یجب   

 
- The instantaneous power absorbed by the inductor is: 
 

P(t) = VrmsIrmssin [2(wt + θV)] 
 بالكتاب فارض أن 

δ = θV 

β = θI 
 لھیك ما في فرق بین الثنتین

 

- The instantaneous power absorbed by the 
capacitor is: 

P(t) = −VrmsIrmssin [2(ωt + θV)] 
 

- Power Average (W): 
 P = VIR = V I cos (θV − θI) 

للمقاومة أما الملف والمواسع ف بتكون = صفر فقطبتكون      Power average  
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- Reactive power (VAR): 
 

Q = VIX = VI sin (θV − θI) 
 

Reactive power بتكون للملف والمواسع فقط.   ال      
 

- Power Factor:  
 PF = cos(θV − θI) 

 
- For inductive, current lag voltage which means: 

θI less than θV ⟶ lagging power factor موجبة) ةالزاوی ) 

- For capacitive, current lead voltage which means: 

θI greater than θV ⟶ leading power factor (الزاویة سالبة) 

- For resistance, current in phase voltage which means: 
 
θI =  θV ⟶ unity power factor زاویة صفر)ال ) 
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- Reactive power is the amplitude of double frequency power of reactive load.  

- P: is total energy absorbed by a load during time. 

- Q: is max value of instantaneous power absorbed by reactive component. 



 

Example 2.1 

The voltage V(t) = 141.4 cos (ωt) is applied to a load 
consisting of a 10Ω resistor in parallel with an 
inductive reactance X𝐿𝐿 = ωL = 3.77Ω. calculate the 
real and reactive power absorbed by the load, and 
the power factor. 

Vrms = Vmax
√2

= 141.4
√2

= 100∠0° V   

IR =
V
R

=
100∠0°

10
= 10∠0° A 

IL =
V
ZL

=
V

jωl
=

100∠0°
3.77∠90°

= 26.53∠ − 90° A 

I = IR + IL = 10∠0° + 26.53∠ − 90° = 28.35∠ − 69.34° A  
 

rms  لأنھ بالمادة بنتعامل مع حولناھا  

Sol: 

a) The instantaneous power absorbed by the resistor is: 

PR(t) = VrmsIrms[1 + cos(2(ωt + θV))] 

PR(t) = (100)(10)[1 + cos(2ωt)] 

PR(t) = 1000[1 + cos(2ωt)] W 
 

θV = zero 
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b) The instantaneous power absorbed by the inductor is: 

PL(t) = VrmsIrms�sin�2(ωt + θV)�� 

PL(t) = (100)(26.53)[sin(2ωt)] 

PL(t) = 2653[sin(2ωt)] W 
 

θV = zero 

c) The real power absorbed by the load: 

 P = V I cos(θV − θI) 

P = (100)(28.35) cos(0° + 69.34°) = 1000 W   
 

d) The reactive power absorbed by the load: 
 
Q = V I sin(θV − θI) 

Q = (100)(28.35) sin(0° + 69.34°) = 2653 VAR 
 

e) The power factor is: 

PF = cos(θV − θI) 

PF = cos(0° + 69.34°) = 0.3528 lagging 
 

Lagging بما إنھ الزاویة موجبة فھي 
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2.3 COMPLEX POWER 
 the complex power (S) is the product of the voltage and the conjugate 
of the current: 

S = VI∗ = (V∠θv)(I∠θI)∗ = VrmsIrms∠θV − θI 

S = Vrms Irms cos(θV − θI) + j Vrms Irms sin (θV − θI) 

S = P + jQ  
الزاویة (عكس إشارة الزاویة)لى بعلامة النجمة وتؤثر فقط ع   Conjugate نرمز لل 

P= Real power 

Q= Reactive power 

Apparent power  وال complex power  -  بدنا نفرق بین ال  

|S| = Vrms Irms ⟶ Apparent power  

 

S = VrmsIrms∠θV − θI → Complex power 
 

.الاعتبارلا نأخذ الزاویة بعین   
 

.الاعتبارنأخذ الزاویة بعین   
 

Complex power لل   Amplitude  بتكون ال Apparent power ال    

S =
|V|2

Z∗
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S = |S|∠θV − θI 

S = I2Z 

Other rules of complex power: 



 

Source كیف نحدد إذا ال     

Generator OR Motor? 

If P is positive then positive real power is absorbed. 

If Q is positive then positive reactive power is absorbed. 

If P is negative then negative real power is delivered. 

If Q is negative then negative reactive power is delivered. 
 

التیار) اتجاهالطریقة الأولى للتحدید: (  
 

1- Current enters positive terminal of circuit element. 

If P is positive then positive real power is delivered. 

If Q is positive then positive reactive power is delivered. 

If P is negative then negative real power is absorbed. 

If Q is negative then negative reactive power is absorbed. 
 

ب التیار داخل من الموج -1  

التیار خارج من الموجب  -2  

2- Current leaves positive terminal of circuit element 

- Delivered: Generator ( دیولّ  ) - absorbed: Motor (یستھلك) 
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 الطریقة الثانیة للتحدید: (الفرض) 

1 source - إذا كان بالدارة  

وبفحص إشارات البور موجب أو سالب.   Delivered إنھ    Source بفرض ال 

Delivered  موجبة فھي فعلیا P    إذا كانت ال 

 Absorbed فھي سالبة    P إذا كانت ال     

Delivered  فھي  موجبة Q إذا كانت ال     

Absorbed فھي  سالبة  Q إذا كانت ال     
 

2 source - إذا كان بالدارة  

وبفحص إشارات البور موجب أو سالب.   Delivered الأول إنھ Source بفرض ال 

Delivered  موجبة فھي فعلیا P  إذا كانت ال 

 Absorbed فھي  سالبة  P إذا كانت ال     

Delivered  فھي   موجبة Q إذا كانت ال     

Absorbed فھي  سالبة  Q إذا كانت ال     

وبفحص إشارات البور موجب أو سالب   Absorbed الثاني إنھ    Source بفرض ال 

Absorbed  موجبة فھي فعلیا P إذا كانت ال     

Delivered فھي  سالبة  P إذا كانت ال     

Absorbed موجبة فھي   Q إذا كانت ال     

Delivered  فھي  سالبة Q  إذا كانت ال 
 

 

 

 

 

 

 

P  على ال GENERATOR OR MOTOR إذا كان SOURCE ملاحظة: نعتمد على تحدید ال 

8 



 

Example 2.2 

A single-phase voltage source with V = 100∠130° volts delivers a current 
I = 10∠10° A which leaves the positive terminal of the source. Calculate the 
source real and reactive power, and state whether the source delivers or 
absorbs each of these. 

Complex power جھد بالسؤال ال أعطانا والتیار  وطالب   

S = VI∗ = (100∠130°)(10∠ − 10°) = 1000∠120° VA 
 

 بدي أحل على طریقة الفرض 

 Delivered فرضت إنھ 

 بشوف الإشارات 

  Absorbed فھو   Delivered   سالبة إذا مش P إشارة ال 

Delivered موجبة إذا   Q إشارة ال 

b) Generator or Motor? 
 
S = P + jQ 

S = −500 + j 866 VA 
 

على ال   نعتمدبقلنا  P بالتحدید   

P= Absorbed= Motor 

[ The machine is motor ] 
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S = −500 + j 866 VA  

Sol: 



 

Power Triangle: 

Q = VIX = VI sin (θV − θI) 

θV − θI 

P = VIR = V I cos (θV − θI) 
 

|S| = VI 

اصة بالفیرست بعطینا بور وحدة وزاویة أو نوعین من  المثلث ھذا كثیر بنحتاجھ لحل بعض المسائل خ -
 البور وبطلب منا عدة مطالیب راح نشوفھا بالمثال الجاي.

Example 2.3 

single-phase source delivers 100 kW to a load operating at a power 
factor  of 0.8 lagging. Calculate the reactive power to be delivered by a 
capacitor connected in parallel with the load in order to raise the 
source power factor to 0.95 lagging. Also draw the power triangle for 
the source and load. Assume that the source voltage is constant, and 
neglect the line impedance between the source and load. 
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Sol: 
. المعطیات الموجودة بالسؤالبرسم المثلث وبحدد علیھ   

عشان أقدر أرسم المثلث   لكن أنا بدي الزاویة  PF عطاني أ 
    

PF = 0.8 

θ = cos−1(0.8) = 36.87° 



 

36.87° 

100 kW 

والزاویة بقدر أوجد باقي عناصر المثلث   P معي ال    

tan(θ) =
QL

p
⟶ tan(36.87°) =

QL

100k
 

→ QL = 75 kVAR 

 
SL =

P
cos (θL)

=
100k

cos (36.87°)
= 125 kVA 

 أوجدنا كل شي لل Load ھسا بقلي إنھ ضفنا مواسع على التوازي وطالب ال  Q  للمواسع

تبقى نفسھا یعني برسم مثلث جدید بزاویة جدیدة.  (P) و  ال Source الخاصة بال   PF أعطاني ال و  
 

PF = 0.95 

θ = cos−1(0.95) = 18.19° 
18.19° 

100 kW 

tan(θ) =
QS

P
⟶ tan(18.19°) =

QS

100k
 

QS = 32.87 kVAR 

SS =
P

cos (θL)
=

100k
cos (18.19)

= 105.3 kVA 

QS = QC + QL 
QC = QL − QS → QC = 75 − 32.87 = 42.13 kVA 

 

QC  أنا بدي 
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 ملاحظات على المثال: 
لما تتغیر الزاویة بتغییر معھا التیار لأنھا زاویة جدیدة وممكن یطلب قیمة   -

.التیار الجدید   

 - ممكن یطلب مني ال Impedance .للمواسع بعد تغییر قیمة الزاویة 

كالأتي: على فرض طلب الملاحظات الموجودات بالصندوق بكون الحل   

 If V=200 V and f=60HZ, Find the current and capacitor. 
 

 فرضت القیمتین من عندي

Sol: 

a) I = SS
∗

V∗
 

SS = 100 + j32.87 = 105.3∠18.19° kVA 

I =
(105.3∠18.19°k)∗

200
= 526.5∠ − 18.19° A 

 طلب التیار الجدید بعد إضافة الزاویة

.الي استخرجناھا من الزاویة الجدیدة  S بستخدم ال 

 
 

SC =
|V|2

ZC∗
→ ZC =

|V|2

SC∗
 

b) C = −j
2πf ZC

 

 

SS = SC + SL → SC = SL − SS 

SC = (100 + j75) − (100 + j32.87) → SC = −j42.13 kVA 

 
 

بنطلع قیمتھا وبنوجد قیمة المواسع   Zc معنا كل إشي ما عدا    

ZC =
|V|2

SC∗
 

 ZC =
|200|2

(−j42.13k)∗ = −j0.949 Ω 

 
C =

−j
2π60 × −j0.949

→ C = 2.795 mF 
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2.5 BALANCED THREE-PHASE CIRCUITS 

نظام أحادي الطور، لكن نظام تولید الطاقة الكھربائیة  الأن غایةكل اللي تعاملنا معھ ل
 ونقلھا غالبا ما یتم من خلال نظام ثلاثي الطور.

في المادة بنتعامل مع النظام المتزن وفي النظام المتزن یجب أن یكون المجموع الكلي 
 للتیار والفولتیة یساوي صفر. 

Van = Vm∠0° → pahse 1 

Vbn = Vm∠120° → pahse 2 

Vcn = Vm∠240° → pahse 3 
 قلنا في النظام المتزن یجب أن المجموع الكلي للفولتیة یسوي صفر:  

Vm =1  على فرض 
 

Vtot = Van + Vbn + Vcn 

Vtot = 1∠0° + 1∠120° + 1∠240° = Zero 
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Type of sequence: 
: في النظام الثلاثي یتم توصیل الفازات حسب تسلسل معین وھم نوعین  

1) Positive sequence:  [abc  ]  

ھو المرجع   Van على فرض أن       

Van = Vm∠0° 

Vbn = Vm∠ − 120° 

Vcn = Vm∠120° 
 

Va lead Vb by 120° 

Va lag Vc by 120° 

 

2) Negative sequence:  [acb  ]  

Van = Vm∠0° 

Vbn = Vm∠120° 

Vcn = Vm∠ − 120° 
 
Va lag Vb by 120° 

Va lead Vc by 120° 

 

Positive sequence  ملاحظة: بالمادة بنتعامل مع ال  
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 ھناك طریقتین للتوصیل:

1) Wye connected source: 

:في ھذه التوصیلة جھد الفاز بكون بین الخط والأرضي یعني -    

(a and n), (b and n), (c and n) 

 

 

   

   

:جھد الخط بكون بین خطین یعني  -  

(a and b), (b and c), (c and a) 

 
والفاز ھو:الفرق بین جھد الخط   

VLine = √3 VPhase ∠30° 

IPhase = ILine  ھذه التوصیلة التیارات متساویة یعنيفي  - 

 
2) Delta connected source: 

VPhase = VLine    متساویة یعني الجھودفي ھذه التوصیلة - 

 
ع بالتالي فإن التیارات غیر متساویة إذا لاحظنا یوجد بالتوصیلة تفرّ   -  

ILine = √3 IPhase ∠ − 30° → Ipahse =
IPhase
√3 

 ∠30° 
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- Type of connection between the source and the load: 

1) Balanced Wye-Wye connection: 

Y  بحمل على شكل Y شابك المصدر 
   

 القواعد التي تطبق على المصادر تطبق على الأحمال أیضا 

بنطبقھ بھاي الدارة   Y یعني كل اشي مذكور فوق بتوصیلة ال     
 

(b)  و (a)   بین رجھد الخط للمصد

(n)  و (a) جھد الفاز للمصدر بین 

(A) و (B)    جھد الخط للحمل بین  

(A)  و (N)  جھد الفاز للحمل بین 

(Van, Vbn, Vcn) 

(Vab, Vbc, Vca) 

(VAN, VBN, VCN) 

(VAB, VBC, VCA) 
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IAN, IBN, ICN  تیار الفاز للحمل من النقطة  (A) إلى النقطة  (N)  ویشمل البقیة أیضا

Ian, Ibn, Icn ویشمل البقیة أیضا   (n) (a)  إلى النقطة    تیار الفاز للمصدر من النقط

IAB, IBC, ICA   تیار الخط للحمل

Iab, Ibc, Ica  تیار الخط للمصدر 

Y ملاحظة:  تیار الفاز یساوي تیار الخط في ھذه الدارة لأنھ نوع التوصیلة  

 المصدر 
 الحمل 



 

2) Balanced Wye-Delta connection:  

Delta  بحمل على شكل Y  شابك المصدر 

 
   

 جھد المصدر كما في الأعلى نطبق القواعد. 

یساوي تیار الخط.    Y    لأنھ أما تیار المصدر 

 

Vab = VAB = VZDelta 

Delta   التوصیلة ز للحمل لأنھاجھد الخط للحمل یساوي جھد الف

 
 .ساوي جھد الخطیإنھ جھد الخط للمصدر  لاحظ

.ساوي جھد الفاز للحملیللحمل بالتالي   

لما یوصل النقطة   A    .بالأعلى هبتفرع بالتالي تیار الخط لا یساوي تیار الحمل وھذا حاكینا  Ia ر تیا  

Ia = √3 IAB∠ − 30° 

 

71  

ZLine بضیفھا للدارة وبحلھا كأنھا دارة عادیة   إذا كان في    
 

Single phase  الدارة أكید ما راح أخذھا كلھا بأخذ فقط   ذهلحل ھ  
 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Y-Y بحول شكل الدارة ل ZLine إذا كان في    

ZDelta باستخدام القانون   = 3Zy 

 ZLine ملاحظة: ھذه الطریقة تستخدم فقط عندما لا تحتوي الدارة على 
 

IAB =
VAB

ZDelta
   :یمكن حساب تیار الفاز للحمل من خلال 

Vab = VAB = VZDelta  وقلنا إنھ 
 

3) Balanced Delta-Delta connection:  

Delta  بحمل على شكل Delta شابك المصدر 

 
   

: جھد الفاز یساوي جھد الخط وبما إنھم كلھم مشبوكین على التوازي فإن  Delta   بتوصیلة ال

Vab(source) = VAB(load) 

 

 المصدر  تیار الخط للمصدر أو الحمل لا یساوي تیار الفاز للحمل أو
Ia = √3IAB∠ − 30° Ia: line current 

IAB =
VAB

ZDelta
 یمكن حساب تیار الفاز للحمل من خلال   
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Y-Y یمكن حل الدارة السابقة بطریقة أخرى وھي التحویل الدارة ل    

 طریقة التحویل

ZY = ZDelta
3

          لتحویل الحمل

: وبستخدم القانون الأتي   Vab line to Van  بعتبر أن  المصدرحویل تل  

Vab = √3Van∠30° → Van = Vab
√3

∠ − 30°     

 
4) Balanced Delta-Wye connection:  

Y  بحمل على شكل Delta  شابك المصدر 

 
   

جھد الفاز للمصدر یساوي جھد الخط للمصدر 
لأنھم على التوازي. ویساوي أیضا جھد الخط للحمل  

Vab = VAB 

Y لأنھ التوصیلة  للحمل لكن جھد الخط للحمل لا یساوي جھد الفاز   

VAB ≠ VAN 

VAB = √3VAN∠30° → VAN =
VAB
√3

∠ − 30° 

Y التوصیلة   ھ تیار الخط للحمل یساوي تیار الفاز للحمل لأن  

بالتالي بجد تیار الفاز من خلال   Delta لكن تیار الفاز للمصدر لا یساوي تیار الخط لأنھ التوصیلة    

Ia = √3Iab∠ − 30° → Iab =
Ia
√3

∠30° 
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Y-Y تحویل الدارة ل  یتم حل الدارة السابقةل -   

Vab  :لتحویل المصدر بستخدم العلاقة التالیة = √3Van∠30° → Van = Vab
√3

∠ − 30°     

 

20 

:طریقة أخرى لحل الدارة -  

Vab   في حال أعطى بالسؤال 
Vab = VAB  فإن 

 VAB  من خلال العلاقة التالیة:  خلالھ بقدر أحسب قیمة جھد الفاز للحمل من  ھو جھد الخط للحمل  

VAB = √3VAN∠30° → VAN =
VAB
√3

∠ − 30° 

 
بقدر أحسب قیمة تیار الفاز للحمل من خلال العلاقة:   Zy  وقیمة VAN بما إنھ معي 

IAN =
VAN
ZY

 

 
IAN = Ia تیار الفاز یساوي تیار الخط یعني    Y   وبتوصیلة 

:تیار الفاز لا یساوي تیار الخط ولحساب تیار الفاز للمصدر بستخدم العلاقة التالیة   Delta وبتوصیلة 

Ia = √3Iab∠ − 30° → Iab =
Ia
√3

∠30° 

 
 ZLine ملاحظة: ھذه الطریقة تستخدم فقط عندما لا تحتوي الدارة على 

 

Y-Y بحول شكل الدارة ل ZLine إذا كان في    

 



 

A balanced, positive-sequence, Y-connected voltage source with Eab = 480∠0° V 
is applied to a balanced-D load with ZDelta = 30∠40°Ω.The line impedance 
between the source and load is ZLine = 1∠85°Ω for each phase. Calculate the line 
currents, the D-load currents, and the voltages at the load terminals. 
 
 
 

 

Example 2.4 

Sol: 

  Y-Y ل فبحول شكل الدارة  ZLine لكن بینھم Delta  بحمل على شكل Y شابك المصدر بدایة بلاحظ إنھ    

 
   ZY =

ZDelta
3

→ ZY =
30∠40°

3
= 10∠40°Ω 

جھد الفازفأنا بحاجة    Y-Y بما إنھ حولنا التوصیلة وصارت    

:فاز لا یساوي جھد الخط وھو معطینا جھد الخط بنحولھا من خلال القانون التاليلجھد ا  Y-Y وبتوصیلة      

Vab = √3 Van ∠30° → Van =
 Vab
√3

 ∠ − 30° V 

Van =
 480
√3

 ∠ − 30° = 277.128∠ − 30° V 
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E = V =  الجھد 



 

یعني ھیك بتصیر  Single circuit  وبنحلھا كأنھا Y-Y صار شكل التوصیلة    

 بشوف المطالیب وبحلھا كدارة عادیة 

a) Line current 

IA =
Van

ZL + ZY
→ IA =

277.128∠ − 30°
1∠85° + 10∠40°

= 25.83∠ − 73.78° A 

IB = 25.83∠ − 73.78° − 120° + 360° = 25.83∠166.22° A 

IC = 25.83∠ − 73.78° + 120° = 25.83∠46.22° A 

 

IA   إنھ وبلاحظ Line بشوف شو التیار الي بمر بال    

b) The Delta load currents 
Delta بتوصیلة ال 

تیار الخط لا یساوي تیار الفاز وأنا معي تیار الخط ومن  
ار الفاز. خلال العلاقة الي ذكرناھا بالأعلى بستخرج تی  

IAB =
Ia∠ + 30°

√3
→ IAB =

25.83∠ − 73.78° + 30°
√3

= 14.91∠ − 43.78° A 

IBC = 14.91∠ − 43.78° − 120° = 14.91∠ − 163.78° A 

ICA = 14.91∠ − 43.78° + 120° = 14.91∠ + 76.22° A 
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c) The voltages at the load terminals are: 

ف جھد الفاز والخط متساویین   Delta طالب مني جھد الحمل وبما إنھ التوصیلة     

VAB = ZDelta IAB → VAB = (30 ∠40°) × (14.91∠ − 43.78°) 

VAB = 447.3∠ − 3.78° V 

VBC = 447.3∠ − 3.78° − 120° = 447.3∠ − 123.78° V 

VBC = 447.3∠ − 3.78° + 120° = 447.3∠ + 116.22° V 

 
2.6 POWER IN BALANCED THREE-PHASE CIRCUITS 
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  درسنا الطاقة في نظام أحادي الطور وعرفنا قانون كل واحد منھم لكن بنظام ثلاثي الطور القوانین بتختلف
 وبھذا السكشن راح نتعرف على القوانین الخاصة بنظام ثلاثي الطور.

1) Wye connected load: 

Iline = Iphase 

Vline = √3Vphase∠30° 
 

2) Delta connected load: 
 

Vline = Vphase 

Iline = √3Iphase∠ − 30° 
 

 للتذكیر: 



 

- Real power [W]: 

P = V I cos (θV − θI) بنظام أحادي الطور كان عندي القانون     

P1,P2,P3 فازات یعني عندي  3أما الأن أنا بنظام ثلاثي الطور یعني  
ویطبق على جمیع أنواع البور.  ورب 3  

P = 3 Vphase Iphase cos (θV − θI) 

P = √3 VLine ILine cos (θV − θI) 

- Reactive power [VAR]: 

Q = 3 Vphase Iphase sin(θV − θI) 

Q = √3 VLine ILine sin (θV − θI) 

- Apparent power [VA]: 

|S| = 3 Vphase Iphase 

|S| = √3 VLine ILine  
 

- Complex power [VA]: 

S = 3 Vphase Iphase∗  

S = √3 VLine ILine∗   
 

 ملاحظة: یوجد إثباتات للقوانین لكن غیر مطالبین إلاّ بالقانون النھائي   
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Example 2.5 

Two balanced three-phase motors in parallel, an induction motor drawing 400 kW at 
0.8 power factor lagging and a synchronous motor drawing 150 kVA at 0.9 power 
factor leading, are supplied by a balanced, three-phase 4160-volt source. Cable 
impedances between the source and load are neglected, (a) Draw the power triangle 
for each motor and for the combined-motor load. (b) Determine the power factor of 
the combined-motor load. (c) Determine the magnitude of the line current delivered 
by the source. (d) A delta-connected capacitor bank is now installed in parallel with 
the combined-motor load. What value of capacitive reactance is required in each leg 
of the capacitor bank to make the source power factor unity? (e) Determine the 
magnitude of the line current delivered by the source with the capacitor bank 
installed. 

ني لكل اعطوأكل واحد ثلاثي الطور ومتزن  متصلات على التوازي بحكیلي إنھ عندي محركین
  .واحد معطیات وطالب عدة مطالیب
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Sol: 

a) Draw the power triangle for each motor and for the combined-motor load. 

Induction motor :     

 P=400kW  PF= 0.8 lagging 

 بستخرج الزاویة من القانون  
PF = 0.8 

θ = cos−1(0.8) = 36.87° 

P 

|S| 
Q 

θV − θI 

 للتذكیر 

 طالب مني أرسم مثلث البور الي حكینا عنھ فوق بشوف المعطیات وبستخرج ما تبقى من المثلث.  
 



 

tan(θ) =
Q
P
⟶ tan(36.87°) =

Q
400k

 

Q = 300 kVAR 

S = P + jQ 

S = 400 + j300 → 500∠ + 36.87°kVA 

400kW 

وباخذ القیمة   Polar بحولھا ل   Complex power لل   Amplitude  بتكون ال |S| مش حكینا إنھ ال     

300 kVAR 
500 kVA 

synchronous motor: 

|S|=150 kVA    PF=0.9 leading   بستخرج الزاویة من القانون 

PF = 0.9 

θ = cos−1(0.9) = 25.84° 

Leading  لأنھا  سالبةالزاویة  S = 150∠ − 25.84° kVA 

S = 135 − j65.4 kVA 

 

135 kW 

150 kVA 65.4 kVAR 

 رسمنا المثلث مقلوب لأنھ الزاویة سالبة
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Lagging الزاویة موجبة لأنھا 
 

    



 

Combined-motor load : 
 

Q و   P  ھون راح نجمع المثلثین مع بعض فقط بنجمع ال 
 

Ptotal = P1 + P2 → 400 + 135 = 535 kW 

Qtotal = Q1 + (−Q2) = 300 − 65.4 = 234.6 kVAR 

S = 535 + j234.6 → 584.2 ∠23.67° kVA 

535 kW 

234.6 kVAR 584.2 kVA 

b) Determine the power factor of the combined-motor load. 

استخرجنا قیمة الزاویة ھسا طالب البور فاكتور  Polar لما حولنا الشكل ل    

PF = cos(θV − θI) → PF = cos(23.67°) = 0.9158 Lagging 

C) Determine the magnitude of the line current delivered by the source. 

S = √3 VLine ILine  

ILine =
584.2

√3 × 4160
= 0.0811 kA 

 

Line بعتبره Phase ملاحظة: إذا ما ذكر بالسؤال إنھ الجھد 
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d) A delta-connected capacitor bank is now installed in parallel with the 
combined-motor load. What value of capacitive reactance is required in each 
leg of the capacitor bank to make the source power factor unity? 

QC =
3V2

XDelta
→ XDelta =

3V2

QC
 

XDelta =
3(4160)2

234.6 k
= 221.3 Ω 

 

e) Determine the magnitude of the line current delivered by the source 
with the capacitor bank installed. 

راح نوجد قیمة التیار بعد تغییر  حكینا لما الزاویة تتغیر التیار أیضا بتغیر
. الزاویة كما ذكر بالفرع الي قبل  

I =
S

√3 V
=

P
√3 V

=
535 k

√3 × 4160
= 74.3 A 
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Power factor unity 

Q    یعني ما عندي

Qnew = Qadd + Qcom = 0 

لحتى یلغوا بعض      Q    حكینا ما عندي 

Qadd = Qcom 

انلغت یعني   Q ما عندي    

S=P 

2.7 ADVANTAGES OF BALANCED THREE-PHASE VERSUS SINGLE-PHASE 
SYSTEMS 

- reduced capital and operating costs of transmission and 
distribution. 

- the total instantaneous electric power delivered by a three-phase 
generator under balanced steady-state conditions is (nearly) 
constant. 



 

Difference between ground and natural? 

Ground 

- Actual physical  

- For safety and protection under 
normal operation 

- Conductor that carries current under 
fault condition 

Natural  

- In 3phase Y connected 

- Conductor that carries current is 
normal operation  

- Represent a reference point 
which an electrical distribution 
system 
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Problems Ch 2 
 2.19) Consider a single-phase load with an applied voltage v = 150 cos( ωt +  10°) V 

and load current i =  5 cos(ωt −  50°) A. (a) Determine the power triangle. (b) Find the 
power factor and specify whether it is lagging or leading. (c) Calculate the reactive 
power supplied by capacitors in parallel with the load that correct the power factor to 
0.9 lagging 
 

Sol: 

 دارة نظام أحادي الطور أعطاني الجھد والتیار الخاص فیھ وطالب عدة مطالیب

S = VrmsIrms∗  

S =
150
√2

∠10° ×
5
√2

∠50° 

S = 375∠60° VA 

S = P + jQ 

S = 187.5 + j324.8 

P = 187.5 W 

Q = 324.8 VAR 

|S| = 375 VA 

 

b) Pf = cos(60°) = 0.5 lagging 

 

c) Reactive power by capacitor: 

QS = P × tan(QS) = 187.5 × tan(cos−1(0.9)) = 90.81 VAR 

QC = QL −  QS = 324.8 −  90.81 =  234 VAR 

 

Rms حولنا الجھد والتیار لأنھ بالمادة بنتعامل مع 

Conjugate  فيلأنھ  موجبةالزاویة  

60° 

P = 187.5 W 
 

Q = 324.8 VAR 
 

|S| = 375 VA 
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2.23) A single-phase source has a terminal voltage V =  120 ∠0° V  and a current 
I = 10 ∠30° A, which leaves the positive terminal of the source. Determine the 
real and reactive power, and state whether the source is delivering or absorbing 
each. 

وطالب أحدد إذا المصدر بولدّ طاقة ولاّ بستھلك.    Complex power جھدبالسؤال ال أعطانا والتیار  وطالب   

 

S = VI∗ = (120∠0°)(10∠ − 30°) = 1200∠ − 30° VA 
 

Sol: 

S = 1039.2 − j 600 VA  

 بدي أحل على طریقة الفرض 

 Delivered فرضت إنھ 

 بشوف الإشارات 

    Delivered إذا  موجبة  P إشارة ال 

Absorbed فھو   Delivered مش  إذا  سالبة   Q  إشارة ال 

 قلنا بنعتمد على ال  P بالتحدید 

P= Delivered = Generator 

[ The machine is generator ] 
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2.27) An industrial load consisting of a bank of induction motors consumes 50 kW at 
a power factor of 0.8 lagging from a 220-V, 60-Hz, single-phase source. By placing a 
bank of capacitors in parallel with the load, the resultant power factor is to be raised 
to 0.95 lagging. Find the net capacitance of the capacitor bank in mF that is required. 

 حمل بدارة أعطاني معلومات عنھ وبعدین استبدل ھذا الحمل بمواسع وطالب أجد مقدار المواسعة 

Sol: 
Pold = 50 kW   
 

 

PF = 0.8 → θold = cos−1(0.8) = 36.87° 

36.87° 

50 kW   
 

 

tan(θ) =
Qold

Pold
⟶ tan(36.87°) =

Qold

50k
 

Qold = 37.5 kVAR 

Sold = 50000 + j37500 VA  

بعد ما استخرجنا كل المعلومات اللي قبل استبدال الحمل بمواسع ھسا لازم نستخرج معلومات المواسع  
طیات اللي بالسؤال. الجدیدة حسب المع  

Pnew = 50 kW   
 

 
PF = 0.95 

θnew = cos−1(0.95) = 18.19° 

ثابتة لكل السؤال  أخذنا إنھا  

tan(θ) =
Qnew

Pnew
⟶ tan(18.19°) =

Qnew

50k
 

Qnew = 16.430 kVAR 

Snew = 50000 + j16430 VA  

  بنستخرج الممانعة ومنھا بنستخرج المواسعة. بعد ما استخرجنا كل المعلومات 

50 kW   
 

 

18.19° 
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ZC =
|V|2

SC∗
 

 

SC =
|V|2

ZC∗
→ ZC =

|V|2

SC∗
 

Snew = Sold + SC → SC = Snew − Sold 

SC = (50k + j16430) − (50k + j37500) → SC = −j21070 VA 

 
 
ZC =

|220|2

j21070
= −j2.2971 

 C = −j
2πf ZC

→ C = −j
2π×60×−j2.2971

= 1155μF 

 

2.41) three-phase 25-kVA, 480-V, 60-Hz alternator, operating under balanced 
steady state conditions, supplies a line current of 20 A per phase at a 0.8 lagging 
power factor and at rated voltage. Determine the power triangle for this 
operating condition. 

. أعطانا الجھد والتیار وطالب مثلث البورنظام ثلاثي الطور   

Sol: 

S3∅ = √3 VLine ILine∠θ  

S3∅ = √3 × 480 ×  20∠cos−1(0.8)  

S3∅ = 16.627 × 103∠36.87° VA 

S3∅ = 13.3 × 103 + j9.976 × 103 

P = 13.3 kW 

Q = 9.976 kVAR 

|S| = 16.627 kVA 
36.87°  

 P = 13.3 kW 

 

Q = 9.976 kVAR 

 

|S| = 16.627 kVA 

33 



 

2.46) Three identical impedances ZDelta = 30 ∠30 Ω are connected in Delta to a 
balanced three phase 208-V source by three identical line conductors with 
impedance ZL = 0.8 +  j0.6 Ωper line. (a) Calculate the line-to-line voltage at the 
load terminals. (b) Repeat part (a) when a Delta-connected capacitor bank with 
reactance (− j60)Ω per phase is connected in parallel with the load. 

Sol: 

a) Calculate the line-to-line voltage at the load terminals. 

طالب نحسب الجھد على الحمل لكن عندي ممانعة على الخط ف لازم أحول ممانعة الدلتا لیسھل الحل  
 وطبعا بنحول جھد الخط لجھد الفاز. 

Van =
208
√3

∠0° V 

ZY =
30∠30°

3
= 10∠30°Ω 

VAN = Van ×
ZY

ZY + Zline
 

VAN =
208
√3

∠0° ×
10∠30°

10∠30° + (0.8 +  j0.6)
 

VAN =
(10∠30°) × (120.09)

9.46 +  j5.6
 

VAN = 109.3∠ − 0.62° V 

VAB = √3 VAN → VAB = √3 × 109.3 = 189.3 V 

 

الفاز.جھد الخط لا یساوي جھد   Y بتوصیلة 

طالب جھد الخط للحمل وأنا استخرجت جھد الفاز 
. بحول لجھد الخط  
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b) Repeat part (a) when a D-connected capacitor bank with reactance 
(− j60)Ω per phase is connected in parallel with the load. 
 

 طالب تكرار الفرع الأول لكن مع إضافة مواسع.
عشان  التوازيالتوازي بأخذ المحصلة على لى نفس الخطوات لكن عندي ممانعة ومواسع ع

 أحصّل الجھد على الحمل كامل. 

Zeq =
ZC × ZY
ZC + ZY

 

Zeq =
−j20 × 10∠30°
−j20 + 10∠30°

 

Zeq = 11.547∠0°Ω 

 
VAN = Van ×

Zeq
Zeq + Zline

 

VAN =
208
√3

∠0° ×
11.547

11.547 + (0.8 +  j0.6)
 

VAN =
(11.547) × (120.09)
11.547 + 0.8 +  j0.6

 

VAN = 112.2∠ − 2.78° V 

VAB = √3 VAN → VAB = √3 × 112.2 = 194.3 V 

 

 بتوصیلة Y جھد الخط لا یساوي جھد الفاز.

طالب جھد الخط للحمل وأنا استخرجت جھد الفاز 
. بحول لجھد الخط  
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Ch 3 POWER TRANSFORMERS 
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3.1 The ideal transformer 

 

بالمحول المثالي من إسمھ مثالي  
للطاقة   فقدان یعني ما عندي أي 

  .یعني الداخل نفسھ الخارج

- The windings have zero resistance. 

- The core permeability mc is infinite, which corresponds to zero core  
reluctance. 

- There is no leakage flux . 

- There are no core losses. 

- The power: 

Pin = Pout  (No real power losses) 

Qin = Qout (No reactive power losses) 

Sin = Sout (No apparent power losses) 
 

- the efficiency is 100% 

بدون أي فقدان لھا بحیث   وعنا ھون المحول المثالي الي بنقل الطاقة بنقل الطاقة جھاز  المحول ھو
. بتوصلني كما ھي وطبعا ھذا إشي صعب نلاقیھ بالحیاة الواقعیة  

For ideal transformer: 
 

η =
Pout
Pin

× 100% → Pin = Pout 

η =
Pin
Pin

× 100% = 100% 

Transformers is device that change Ac electric power at one voltage level to 
another voltage level, through the action of magnetic field.  



 

N1I1 − N2I2 = RCϕC → Ohms low 

ي بالأعلى بمادة الماشین لاشتقینا المعادلة ال
وموجود اشتقاقھا بالكتاب لكن مش مطلوب  

  .لشغلة من خلالھ منا بس بدنا نوصل 

RC =
IC

μCAC
 

For ideal transformer μC = ∞ 

Then RC = Zero 

 Becomes N1I1 = N2I2 → For ideal transformer 

 

E1
E2

=
N1

N2
 

E1 = aE2 
 

a =
N1

N2
 

I1 =
I2
a

 

 
Z2 =

E2
I2

 

Z1 =
E1
I1

=
aE2
I2
a

= a2Z2 
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For ideal transformer: 
 

S1 = S2 

S1 = S2 

S1 = E1I1∗ = aE2 ×
I2∗

a
= I2∗E2 = S2 

 

 إثبات:

E = V 



 

For ideal phase-shifting: 
- Impedance is unchanged when it is referred from one side.  
-no real or reactive power losses since S1 = S2. 

ھذا مش محول مثالي     ideal phase-shifting إشي عنا اسمھ في   

لكن كزاویة عنا إشي سابق وعنا إشي متأخر الي بدنا نعرفھ من ھاي الفقرة 
 المعلومتین اللي بالأعلى فقط. 

ما في أي تغییر.   magnitude ك 
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A single-phase two-winding transformer is rated 20 kVA, 480/120 V, 60 Hz. A 
source connected to the 480-V winding supplies an impedance load connected to 
the 120-V winding. The load absorbs 15 kVA at 0.8 p.f. lagging when the load 
voltage is 118 V. Assume that the transformer is ideal and calculate the following: 

Example 3.1 

a. The voltage across the 480-V winding. 

b. The load impedance. 

c. The load impedance referred to the 480-V winding. 

d. The real and reactive power supplied to the 480-V 
winding 



 

Sol: 
وطالب عدة مطالیب.في حمل وأعطاني معلوماتھ   Secondary محول بتكون من لفتین حكالي بجھة     

 PF = 0.8 Lagging 

θ = cos−1(0.8) = 36.87° 

S2 = 15 ∠36.87° kVA 
 
a =

N1

N2
=

E1rated
E2rated

=
480
120

= 4 

 

a) The voltage across the 480-V winding. 
  طالب الجھد على Primary .غل على القانونتبش  

E1 = aE2 → E1 = 4 × 118∠0° = 472∠0° V 

b) The load impedance. 
2شابتر في  ني الجھد والكومبلكس بور بشتغل على القوانین اللي اعطأطالب الممانعة على الحمل و   

S2 =
|E|2

Z∗
→ Z =

|E|2

S2∗
 

Z =
1182

15 ∠ − 36.87° k
= 0.9283∠36.87° Ω 

c)  The load impedance referred to the 480-V winding. 
 

Z2′ = a2Z2 → Z2′ = 16 × 0.9283∠36.87° = 14.85∠36.87° Ω 

d) The real and reactive power supplied to the 480-V winding. 
 S1 = S2 

S1 = 15000 ∠36.87° = 12000 +  j9000  

P = 12 kW                Q = 9 kVAR 

 

39 



 

3.2 EQUIVALENT CIRCUITS FOR PRACTICALTRANSFORMERS 

نفسھا  واعرفنا شكلھ وصفاتھ وإنھ مثالي لدرجة الطاقة الداخلة ي درسنا بالسكشن اللي قبل المحول المثال
لكن بالواقع ما عنا محول مثالي لھیك راح نتعرف بھذا السكشن على المحول اللي بنتعامل معھ   الخارجة

.وبكون بواقعنا ونعرف شو الفرق بینھ وبین المحول المثالي    

practical transformers differs from the ideal transformer as follows: 

1. The windings have resistance. 

2. The core permeability mc is finite. 

3. The magnetic flux is not entirely confined to the core. 

4. There are real and reactive power losses in the core. 

  لتالیةابالمحول العملي أكید بصیر فقدان للطاقة لإنھ مش مثالي وحكینا مستحیل یصیر مثالي والدارة 
  راح ندرسھا ونتعرف على أجزاءھا.  ھي شكل المحول الي بنتعامل معھ

- Losses: 

1) Copper losses: (R1, R2) 

Resistive heating losses in the primary and secondry windings. 

2) Leakage flux: (ϕL1,ϕL2) 

 leave core and pass-through air (Inductance of primary and secondry coils). 
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- Core losses 

- the core loss current (Ic) 

- the magnetizing current (Im) 

- exciting current Ie = (Ic + Im) 
 

1) Hysteresis loss  

Hysteresis loss occurs because a cyclic variation of flux within the core requires 
energy dissipated as heat.  

hysteresis loss can be reduced by the use of special high grades of alloy steel as 
core material. 

2) Eddy current  

Eddy current loss occurs because induced currents called eddy currents flow within 
the magnetic core perpendicular to the flux.  

eddy current loss can be reduced by constructing the core with laminated sheets of 
alloy steel 

 

 
Gc   رتیا

Bmتیار 
 

Ic + Im محصلة التیارین 
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- For large power transformers rated more than 500 kVA, the winding resistances, 
which are small compared with the leakage reactance’s, can often be neglected. 

- Since the exciting current is usually less than 5% of rated current, neglecting it in 
power system studies is often valid unless transformer efficiency or exciting current 
phenomena are of particular concern. 



 

1) Open circuit test 
 

 على فرض

300V/3000V 

 

Performed on LVS 

HVS       Open 

LVS HVS 

.بما إنھ الأكبر  Secondary بنبطق الإختبارعلى ال   -  
IS = Zero یعني   Open بما إنھ طبقنا الإختبار صار   -  

R1and x1 بھمل -  

Y = GC − jBm =
1

RC
−

j
Xm

 

POC = VOCIOC cos(θ) 

θ = cos−1 �
POC

VOCIOC
� 

 
2) Short circuit test 
 

42 

Performed on HVS 

LVS        Shorted 

فرضعلى   

3000V/300V 

 HVS LVS 

.بعد ما اعرفنا الأجزاء وشو بمثل كل جزء بالدارة الأن بدنا نعرف كیف بتنحل الدارة  

لحل الدارة وھم:  التالیة على الدارةبنطبقھم  اختبارین  فيعرف من الماشین إنھ نب   



 

V1=0 -  بجعل  

.بطبق الإختبار -  

. بھمل الجزء اللي بالمنتصف -  

 secondary لل  كل شيءبنقل  -  

Req = Reqs + jXeqs 

PSC = VSCISC cos(θ) 

θ = cos−1 �
PSC

VSCISC
� 

ZSC =
VSC
ISC

∠θ 

 

 Example 3.2 

A single-phase two-winding transformer is rated 20 kVA, 480/120 volts, 60 Hz. 
During a short-circuit test, where rated current at rated frequency is applied to  
the 480-volt winding (denoted winding 1), with the 120-volt winding (winding 2) 

shorted, the following readings are obtained:V1 = 35 Volts, P1 = 300 W. 
During an open-circuit test, where rated voltage is applied to winding 2, with 
winding 1 open, the following readings are obtained: I2 = 12 A , P2 = 200 W. 

a) From the short-circuit test, determine the equivalent series 
impedance Zeq1 = Req1 + jXeq1 referred to winding 1. 

b) From the open-circuit test, determine the shunt admittance 
 Ym = GC − jBmreferred to winding 1. 
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Sol: 

الي بدي أطبقھم لحل الدارة وطالب   الاختبارینأعطاني بالسؤال معلومات عن المحول وأعطاني معلومات عن 
. خاص فیھ لإیجاده اختبارالممانعة بالفرع الأول ومقلوب الممانعة بالفرع الثاني لكن لكل واحد   

a) From the short-circuit test, determine the equivalent series 
impedance Zeq1 = Req1 + jXeq1 referred to winding 1. 

I1rated =
Srated
Vrated

=
20 k
480

= 41.667 A Rated ال تیار قیمة  استخرجنا  

. معي تیار وأعطاني معلومات عن التست منھا البور بستخرج المقاومة  

P1 = I2R → R =
P1
I2

 

R =
300

(41.667)2
= 0.1728 Ω 

أستخرجھ من  تساعدنياستخرجنا أول جزء من أجزاء الممانعة لكن الملف ما عندي أي معلومة 
 خلالھا بس أعطاني الجھد والتیار بستخرج من خلالھم قیمة الممانعة. 

|Zeq1| =
V1

I1rated
=

35
41.667

= 0.8400 Ω 

 
Z1eq = R1eq + jX1eq 

�Z1eq� = �R1eq
2 + X1eq2 

X1eq = �Z1eq2 − R1eq
2 → X1eq = �0.84002 − 0.17282 = 0.8220 Ω 

Z1eq = 0.1728 + j0.8220  Ω 

 

 بترتیب المعادلة
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b) From the open-circuit test, determine the shunt admittance 
 Ym = GC − jBmreferred to winding 1. 

V1 =
N1

N2
(V2rated) → V1 =

480
120

(120) = 480 V 

 أعطاني معلومات عن التست 

 لكن ما أعطاني الجھد  

 Primary   وبما إنھ بال 

480الجھد یساوي   
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 بال  Open test بستخرج قیمة ال Shunt admittance )مقلوب الممانعة(  

 أعطاني قیمة البور ومعي قیمة الجھد بستخرج قیمة مقلوب المقاومة. 

P2 =
V12

R
→ P2 = V12GC 

GC =
P2
V12

→ GC =
200
480

= 0.000868 S 

|Ym| =
I1
V1

 

I1 =
N2

N1
(I2) → I1 =

120
480

(12) = 3 A 

|Ym| =
3

480
= 0.00625 S 

 

Primary   ما معي قیمة التیار ل

Secondary  بس معي قیم تیار ال 

Refer to primary    بعمل

 Ym = GC − jBm 

Bm = � Ym2 − GC2 

Bm = � Ym2 − GC2 → Bm = �0.006252 − 0.0008682 = 0.00619 S 

 Ym = 0.000868 − j0.00619 S 

 

The units of admittance, conductance, 
and susceptance are siemens. 



 

3.3 THE PER-UNIT SYSTEM 
بحیاتنا العملیة وشو بفرق عن المحول المثالي  تعرفنا بالدرس السابق على المحول اللي بنستخدمھ 

وأیضا اعرفنا كیف نحل الدارة لكن كطریقة حل كانت طویلة نوعا ما لھیك راح نتعرف على اشي 
 إسمھ 

 

Per unit 

أمبیر وواط كل الكمیات اللي أخذناھا سابقا من طاقة وجھد وتیار كان لھم وحدات مثل   

ما بنتعامل مع أي وحدة یعني ما إلھا وحدة.  Per unit لكن بال 

- The per-unit quantity is always dimensionless. 

- One advantage of the per-unit system is that by properly specifying 
base quantities, the transformer equivalent circuit can be simplified 

Base من إحدى ممیزات البیر یونت بقدر أبسط دارة المحول بشكل أسھل من خلال تحدید قیمة ال     
 

per unit quantity =
actual value
base value

 

 

:Per unit أشیاء یقدر أحسبھا باستخدام      

Current 

Voltage 

Power 

Impedance 

Real and reactive power  
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Has unit 
Has unit 

per-unit dimensionless 

Pbase1ϕ = Qbase1ϕ =  Sbase1ϕ 

Ibase =
Sbase1ϕ
VbaseLN

 

Zbase = Rbase = Xbase =
VbaseLN

Ibase
=

VbaseLN2

Sbase1ϕ
 

Ybase = Gbase = Bbase =
1

Zbase
 

 

 

 

 

 قوانین بنستخدمھم للحل في نظام أحادي الطور: 



 

- The ratio of the voltage bases on either side of a transformer is selected to 
be the same as the ratio of the transformer voltage ratings. 

- The value of Sbase1ϕ is the same for the entire power system of concern. 

- per-unit impedance remains unchanged when referred from one side of 
a transformer to the other. 

Example 3.3 

A single-phase two-winding transformer is rated 20 kVA, 480/120 volts, 60 Hz. The 
equivalent leakage impedance of the transformer referred to the 120-volt winding, 
denoted winding 2, is Zeq2 = 0.0525 ∠78.13°Ω . Using the transformer ratings as 
base values, determine the per-unit leakage impedance referred to winding 2 and 
referred to winding 1. 

بالبیر یونت    Primary  محول أحادي الطور أعطاني معلومات عنھ وطالب قیمة الممانعة على ال 

rated  ھي نفسھا ال base  وذاكر أنھ قیم ال 

Secondary  وطالب أیضا قیمة البیر یونت للممانعة على 
Sol: 
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المعطیات بالسؤال  Base  بدایة بحدد قیم ال 

Sbase = 20 kVA , Vbase1 = 480 V , Vbase2 = 120 V 

Zbase2 =
Vbase22

Sbase
→ Zbase2 =

1202

20 k
= 0.72 Ω 

 Actual value Secondary واللي ھي     أعطاني قیمة الممانعة لل

عشان أقدر أحصّل قیمة الممانعة بالبیر یونت.     Base    وبدي قیمة ال



 

Zeq2p.u =
Zactual
Zbase

=
Zeq2
Zbase

→ Zeq2p.u =
0.0525 ∠78.13°

0.72
= 0.0729 ∠78.13° Per unit 

Secondary  بعد ما استخرجنا قیمة الممانعة بالبیر یونت لل 

Primary الأن بدنا نستخرج قیمة الممانعة بالبیر یونت لل 

Secondary أعطانا بالسؤال قیمة الممانعة لل     

referred to primary بعمل    

a =
N1

N2
=

480
120

= 4 

Zeq1 = a2Zeq2 → 42 × 0.0525 ∠78.13° = 0.84 ∠78.13°Ω 

 Actual value Primary واللي ھي     قیمة الممانعة لل معي 

عشان أقدر أحصّل قیمة الممانعة بالبیر یونت.      Base    وبدي قیمة ال

Zeq1p.u =
Zactual
Zbase

=
Zeq1
Zbase

→ Zeq2p.u =
0.84 ∠78.13°

11.52
= 0.0729 ∠78.13° Per unit 

Zbase1 =
Vbase12

Sbase
→ Zbase1 =

4802

20 k
= 11.52 Ω 
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 ملاحظات: 
   Sbase ا.ھي نفسھا لجمیع النظام لا تتغیر أبد   

Zeq2p.u .أیضا ما بتتغیر   = Zeq1p.u 



 

Per unit بعد ما اعرفنا كیف بنحل محول أحادي الطور باستخدام ال     

بنلجأ لل  Per unit لھ.لح  One line diagram عنا إشي اسمھ     
- One line diagram 

1 2 
3 

4 
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1- Generator (تولید). 

2- Transformer step up:  Chang the voltage level. 

3- Transmission line (خط النقل). 

4- Bus: Interconnection two different element (similar to node in circuit). 

5- Load. 

5 

Bus 

بالدارة.  Node بوصل بین عنصرین زي مبدأ ال    
 

احنا متعودین  ، شغلة لازم نعرفھابعد ما اعرفنا أجزاءه صار الوقت نحل علیھ مثال لكن قبل المثال في 
  طلب ممانعة جاھزة بالبیر یونت وبالممانعة إذا طلبھا بالبیر یونت بالطریقة التقلیدیة لكن ھون بعطینا  ستخرجن

ي لإیجادھا: الالبیر یونت الجدیدة لھا بالتالي راح نستخدم القانون الت  

Zp.u.new = Zp.u.old �
Sbase new

Sbase old
� �

Vbase old

Vbase new
�
2

 



 

Example 3.4 

Three zones of a single-phase circuit are identified in Figure. The zones are 
connected by transformers T1 and T2, whose ratings are also shown. Using base 
values of 30 kVA and 240 volts in zone 1, draw the per-unit circuit and determine 
the per-unit impedances and the per-unit source voltage. Then calculate the load 
current both in per-unit and in amperes. Transformer winding resistances and 
shunt admittance branches are neglected.  

One line diagram بدایة لازم نعرف إنھ ھاي عبارة سیركت لكن على شكل     

یعني بحل   ھاي السیركت لمناطق وباخذ قیم كل منطقة وبوجد المطالیب اللي طالبھا السؤال بالحل بنقسم 
.  كل منطقة لحالھا  

وطالب أیضا  ، السؤال طالب رسم دارة البیر یونت للنظام بأكملھ یعني راح أشتغل على منطقة منطقة
على الحمل اللي ھو بالمنطقة   قیم الممانعة بالبیر یونت وقیم الجھد وقیمة التیار الفعلي والبیر یونت 

   الثالثة
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Sol: 
إنھا ما بتتغیر ثابتة لكل النظاموحكینا   Sbase  أعطانا بالسؤال 

للمنطقة الأولى فقط یعني ما بستخدمھا للمناطق الثانیة.   Vbase  أعطانا أیضا 

Vp.u =
Vactual
Vbase

=
220
240

= 0.9167 Per unit 

 

Generator 



 

Zone 1 Vbase1 = 240 V    Sbase = 30 kVA  

Per unit  بالمنطقة الأولى بدنا نستخرج الجھد والممانعة 

لكن ھاي قیمة قدیمة ما بتصلح لدارة البیر یونت   Xeq لو نلاحظ أعطاني قیمة 

  فلازم أوجد القیمة الجدیدة من القانون اللي ذكرناه بالأعلى

Zbase =
Vbase2

Sbase
=

2402

30 k
= 1.92 Ω 

Zp.u.new = Zp.u.old �
Sbase new

Sbase old
� �

Vbase old

Vbase new
�
2
 

XT1p.u.new = 0.1 �
30 kVA
30 kVA� �

240
240�

2

= 0.10 Per unit 

 

.كل المعلومات استخرجتھم من الرسمة  

Zone 2  Sbase = 30 kVA  

Sbase ما بتتغیر = 30 kVA  حكینا 

 للمناطق الأخرى فلازم أستخرجھا.  كون صالحةالمعطاة بالسؤال ما بت
 لك   

 
V1
V2

=
Vbase1
Vbase2

→ Vbase2 =
V2
V1

× Vbase1 

Vbase2 =
480
240

× 240 = 480 V 

Zp.u2 =
Zactual
Zbase

 

. بدنا نستخرج قیمة الممانعة بالبیر یونت   Vbase2 بعد ما استخرجنا قیمة 

أعطاني إیاھا بالرسمة   Actual قیمة ال     

بستخرجھا من خلال المعطیات الموجودة  Base أما ال     
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Xp.u =
Xactual
Xbase

=
2

7.68
= 0.2604 Per unit 

Zone 3  Sbase = 30 kVA  

V1
V2

=
Vbase2
Vbase3

→ Vbase3 =
V2
V1

× Vbase2 

Vbase3 =
115
460

× 480 = 120 V 

Zp.u.new = Zp.u.old �
Sbase new

Sbase old
� �

Vbase old

Vbase new
�
2

 

XT1p.u.new = 0.1 �
30 kVA
20 kVA� �

115
120�

2

= 0.1378 Per unit 

 

 

Z base3 =
Vbase32

Sbase
→ Z base3 =

4802

30 k
= 0.48Ω 

Zload p.u =
Zactual
Zbase

=
0.9 + j0.2

0.48
= 1.875 + j0.4167 Per unit 

Actual   ھون طالب تیار الحمل اللي ھو ال أیضا ھون تكرار للخطوات بالأعلى لكن

 وتیار البیر یونت للحمل. 

Zbase2 =
Vbase22

Sbase
→ Zbase2 =

4802

30 k
= 7.68 Ω 
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بدنا نستخرج قیمة التیار  ورسمنا دارة البیر یونت  بعد ما استخرجنا قیم الممانعات   

Iload p.u =
Iactual
Ibase3

 

Ibase3 =
Sbase

Vbase3
=

20 k
120

= 250 A 

وبنقدر نستخرج تیار البیر یونت    Base استخرجنا قیمة تیار ال    

لاستخراج تیار البیر یونت.   KVL معي الدارة كاملة بمشي 
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Iloadp.u = Ip.u =
Vp.u

Zeq.p.u
=

Vp.u

Zload + j(XT1p.u + XT2p.u + Xline)
 

Iloadp.u =
0.9167

1.875 + j0.4167 + j(0.10 + 0.2604 + 0.1378) 

Iloadp.u = 0.4395∠ − 26.01° Per unit 

 
Iload p.u =

Iactual
Ibase3

→ Iactual = Iload p.u × Ibase3 

Iactual = 0.4395∠ − 26.01° × 250 = 109.9∠ − 26.01° A  

 
كل اللي أخذناه بالبیر یونت كان على نظام أحادي الطور الأن بدنا ننتقل لنظام ثلاثي الطور ونتعرف على قوانینھ  

  .بالبیر یونت

VbaseLN =
VbaseLL
√3

 

Ibase =
Sbase3ϕ
√3VbaseLL

 

Zbase =
VbaseLN

Ibase
=

VbaseLL2

Sbase3ϕ
 

 

LN           Line to neutral 

LL             Line to line 



 

Example 3.5 

A balanced Y-connected voltage source with Eab = 480∠0° V is applied to a 
balanced-D load with ZDelta = 30∠40°Ω.The line impedance between the source 
and load is ZLine = 1∠85°Ω for each phase Calculate the per-unit and actual 
current in phase a of the line using Sbase3ϕ = 10 kVA and VbaseLL = 480 volts. 
 
 

 

  Y-Y ل فبحول شكل الدارة  ZLine لكن بینھم Delta  على شكل بحمل Y شابك المصدر بدایة بلاحظ إنھ    

 

 
   

Sol: 

ZY =
ZDelta

3
=
30∠40°

3
= 10∠40°Ω 

الفعلي تیار البیر یونت.  اللاین كل شيء جاھز عنا وطالب بالسؤال التیاربعد ما حولناھا   

بالتالي لازم أوجد الممانعات بالبیر یونت.  Single circuit  طیب إحنا كنا نحل ھاي الدارة كأنھا 

Sbase3ϕ = 10 kVA  ,  VbaseLL = 480 volts 

Zbase =
Vbase2

Sbase
=

4802

10 k
= 23.04 Ω 

Zload p.u =
Zactual
Zbase

=
ZL

Zbase
=
1∠85°
23.04

= 0.04340∠85° Per unit 

ZY p.u =
Zactual
Zbase

=
ZY

Zbase
=
10∠40°
23.04

= 0.4340∠40° Per unit 

عنا الجھد عشان تكمل دارة البیر یونت وأقدر أحصّل التیار.  تبقى بعد ما استخرجنا قیم الممانعات   
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Vab = √3 Van ∠30° → Van =
Vab∠ − 30°

√3
=
480∠ − 30°

√3
 

Van = 277 ∠ − 30° V 

.الخط بحولھ باستخدام القوانین اللي أخذناھم سابقاالجھد بدي إیاه جھد الفاز وھون أعطاني جھد   

VbaseLN =
VbaseLL
√3

→ VbaseLN =
480
√3

= 277 V 

 
Vanp.u =

Vactual
Vbase

=
277 ∠ − 30°

277
= 1∠ − 30° Per unit 

 

بدنا نستخرج قیمة التیار  ورسمنا دارة البیر یونت  بعد ما استخرجنا قیم الممانعات   

Ip.u =
Vanp.u

Zeq.p.u
=

Vp.u

ZYp.u + ZLp.u
 

Iloadp.u =
1∠ − 30°

0.4340∠40° + 0.04340∠85°
= 2.147∠ − 73.78° Per unit 

 
Ip.u =

Iactual
Ibase

→ Iactual = Il p.u × Ibase 

Iactual = 2.147∠ − 73.78° × 12.03 = 25.83∠ − 73.78° A  

 

Ibase =
Sbase3ϕ
√3VbaseLL

=
10 k

√3 (480)
= 12.03 A 

 

Iactual = Iline 

التوالي لى لأنھم ع  
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3.4 THREE-PHASE TRANSFORMER CONNECTIONS AND PHASE SHIFT 

درسنا بالسكن الماضي محول أحادي الطور واعرفنا طرق حلھ سواء الطرق العادیة أو   
ثي الطور ونعرف أشكال كل توصیلة. بالبیر یونت الأن بدنا نتعرف على محول ثلا  

1- Wye 2- Delta 

بین  120حكینا عن كل توصیلة واعرفنا خصائص كل وحدة وزي ما بنلاحظ ھناك فرق بالطور مقداره 
 أي مرحلتین.

ثلاثیة الطور في تكوینات ومختلفة وھم: ممكن توصیل لفات المحول   

1- Wye-Wye               2- Wye-Delta  

 Neutral  متصلة مع خط بتكون Wye التوصیلة 

 معلومة: 
H الكتاب رامز للجھد العالي    

X والجھد المنخفض    
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3- Delta- Delta 4- Delta-Wye 

:لازم نعرفھممجموعة قواعد  فيبعد ما اعرفنا التوصیلات وأشكالھم   

- With the American Standard notation, in either Y–Delta OR Delta-Y transformer, 
positive sequence quantities on the high-voltage side shall lead their corresponding 
quantities on the low-voltage side by 30°. 

   30° بتوصیلة دلتا واي أو واي دلتا بكون عنا فیز شیفت مقداره 
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 البیر یونت

- In either Y–Delta OR Delta–Y transformer, as per the American Standard 
notation, the negative-sequence phase shift is the reverse of the positive-
sequence phase shift. 

- The Y–Y transformer is seldom used because of difficulties with third harmonic 
exciting current. 

- The Delta–Delta transformer has the advantage that one phase can be 
removed for repair or maintenance while the remaining phases continue to 
operate as a three-phase bank. This open-Delta connection permits balanced 
three-phase operation with the kVA rating reduced to 58% of the original bank . 

لو صار عندي عطل في مرحل من مراحل وبدي أعمل صیانة وأزلت ھاي المرحلة، بتوصیلة الدلتا 
نقل بصیر عندي خفض بقیمة لكن  المراحل الباقیة ما بتتأثر أبدا بتكمل عملھا كنظام ثلاثي الطور

% عن المقدار الأصلي.58البور بمقدار   
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3.5 PER-UNIT EQUIVALENT CIRCUITS OF BALANCED 
THREE-PHASE TWO-WINDING TRANSFORMERS 

  درسنا البیر یونت لمحول أحادي الطور والأن بدنا ندرسھ لنظام ثلاثي الطور وما بختلفوا
.مرة أخرىسیتم ذكرھم عن بعض بالقواعد لكن للتذكیر   

- balanced three-phase circuits can be solved in per unit on a per-phase basis after 
converting Delta-load impedances to equivalent Y impedances 

ة.بعد تحویل الممانعات من دلتا ل واي ممكن أحل كل مرحل  

- Base values can be selected either on a per-phase basis or on a three-phase basis. 

Sbase3Φ = 3 Sbase1Φ                كمثال 
 

. نادرة الإستخدام لوجود عدة مشاكل فیھا ومع وجود الحلول لكنھا نادرة الإستخدام  Y-Y توصیلة 



 

 - A common S base is selected for both the H and X terminals. 

- The ratio of the voltage bases VbaseH/VbaseX is selected to be equal to the 
ratio of the rated line-to-line voltages VratedHLL = VratedXLL. 

 - The per-unit equivalent circuit of the Y–Delta transformer, includes a phase 
shift. 

- The per-unit equivalent circuit of the Delta–Delta transformer is the same as 
that of the Y–Y transformer. It is assumed that the windings are labeled so there 
is no phase shift. 

Example 3.7 

Three single-phase two-winding transformers, each rated 400 MVA, 13.8/199.2 kV, 
with leakage reactance Xeq = 0.10 per unit, are connected to form a three-phase 
bank. Winding resistances and exciting current are neglected. The high-voltage 
windings are connected in Y. A three-phase load operating under balanced 
positive-sequence conditions on the high-voltage side absorbs 1000 MVA at 0.90 
p.f. lagging, with VAN = 199.2∠0°kV . Determine the voltage Van at the low-
voltage bus if the low-voltage windings are connected (a) in Y, (b) in D. 

وأعطاني معلومات وطالب جھد اللفات المنخفض لفاتھ عالیة الجھد متصلة على شكل واي  محول ثلاثي الطور
   .لتوصیلة واي ودلتا

Sol: 

Sbase = 400 MVA → Sbase3Φ = 1200 MVA Vbaseload = 199.2 kV  

VbaseHLL = √3 × 199.2 = 345 kV 
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Y   ذاكر بالسؤال إنھ الجھد العالي توصیلتھ 

Line to neutral     عطاني إیاھا ا و 

Line to line  بحولھا 



 

VANp.u =
Vactual
Vbase

=
199.2∠0°
199.2

= 1∠0° Per unit 

Ip.u =
Iactual
Ibase

 

Iactual =
S∗

√3VbaseLL
=

1000 k∠ − cos−1(0.9)
√3 × 345

= 1.67347 ∠ − 25.84°kA 

IbaseH =
Sbase3ϕ
√3VbaseLL

=
1200

√3 × 345
= 2.008 kA 

Ip.u =
1.673 ∠ − 25.84°

2.008
= 0.8333∠ − 25.84° Per unit 

 

 

 

ھو تیار الحمل بستخرجھ من المعلومات المعطاة للحمل بالسؤال   Actual تیار ال 

a) For the Y–Y transformer 

Single circuit حكینا ھون بحلھا كدارة    
 

Van = VAN + (jXeq)IA 

Van = 1 + (j0.1) × (0.8333∠ − 25.84°) 

Van = 1.039∠4.139° 
 

ناھا دھو طالبھا عند الجھد المنخفض واحنا أوج
.عند الجھد العالي  

Vactual = Vbase × Vp.u 

Vactual = 13.8 k × 1.039∠4.139° = 14.34∠4.139° kV 
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b) For the Delta – Y transformer 

Phase shift بكون عندي   Delta-Y حكینا لما تكون عندي التوصیلة     

درجة -30بمقدار   Phase shift لكن عندي Y-Y كقیم نفس قیم توصیلة    

Ean = e−j30° × VAN = e−j30° × 1∠0° = 1∠ − 30°1 Per unit 

Ia = e−j30° × IA = e−j30° × 0.8333∠ − 25.84° = 0.8333∠ − 55.84° Per unit  

Van = Ean + (jXeq)Ia 

Van = 1∠ − 30° + (j0.1)0.8333∠ − 55.84° = 1.039∠ − 25.861° Per unit 

 

 Vactual = Vbase × Vp.u 

Vactual =
13.8 k 
√3

× 1.039∠ − 25.861° = 8.278∠ − 25.861° kV 

 



  

3.7 AUTOTRANSFORMERS 

 

 - the autotransformer (with not too large turns ratio) is smaller in size than 
a two-winding transformer and has high efficiency as well as superior 
voltage regulation. (advantage) 

- The direct electrical connection of the windings allows transient over 
voltages to pass through the autotransformer more easily. (disadvantage) 

Example 3.11 

The single-phase two-winding 20-kVA, 480/120-volt transformer of Example (3.3) 
is connected as an autotransformer, where winding 1 is the 120-volt winding. For 
this autotransformer, determine (a) the voltage ratings EX and EH of the low- and 
high-voltage terminals, (b) the kVA rating, and (c) the per-unit leakage 
impedance. 
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.الماشین لا شيء جدید ةھذا السكشن إعادة لما تم أخذه في ماد  



 

Sol: 

a) the voltage ratings EX and EH of the low- and high-voltage 
terminals. 

EX = E1 = 120 V 

EH = E1 + E2 = 120 + 480 = 600 V 

 

b) the kVA rating. 

I2 = IH =
S
V

=
20000

480
= 41.667 A 

SH = EHIH = 41.667 × 600 = 25 kVA 

 

c) the per-unit leakage impedance. 

0.0729 ∠78.13° 
 

ZbaseHold =
|V|2

S
=

4802

20000
= 11.52 Ω 

ZbaseHnew =
|V|2

S
=

6002

25000
= 14.4 Ω 

Zp.unew = 0.0729 ∠78.13° ×
11.52 
14.4

= 0.05832 ∠78.13° Per unit 

 

وبالمثال   3.3بالرجوع إلى مثال  ذكر بالسؤال
.أعطاني الممانعة ف بدي أطلع الممانعة الجدید   

As normal transformer 

As auto transformer 
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Problems Ch3 
 3.4) A single-phase 100-kVA, 2400/240-volt, 60-Hz distribution transformer is 
used as a step-down transformer. The load, which is connected to the 240-volt 
secondary winding, absorbs 80 kVA at 0.8 power factor lagging and is at 230 
volts. Assuming an ideal transformer, calculate the following: (a) primary 
voltage, (b) load impedance, (c) load impedance referred to the primary, and 
(d) the real and reactive power supplied to the primary winding. 

   .محول مثالي أعطاني عدد اللفات وذكر إنھ في حمل وأعطاني معلومات عنھ

Sol: 

a =
N1

N2
=

2400
240

= 10  

E1 = aE2 = 10 × 230 = 2300 V  

 

a) primary voltage 

 b) load impedance 

: معي الجھد والبور والزاویة بستخرج الممانعة من القانون التالي  

S =
|V|2

Z∗
→ Z =

|V|2

S∗
 

Z =
2302

80 × 103∠ − cos−1(0.8)
= 0.529 + j0.397Ω 

c) load impedance referred to the primary. 

Z1 = a2Z2 = 100 × (0.529 + j0.397) = 66.13∠36.87° Ω 
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d) the real and reactive power supplied to the primary winding. 
 بالمحول المثالي ما عنا فقدان للبور بالتالي البور الداخلة نفسھا الخارجة ومعنا البور على جھة الحمل. 

S = 80 × 103∠cos−1(0.8) = 80 × 103∠36.87° VA 

S = 64000 + j48000 VA 

Pprimary = Psecondary = 64 kW 

Qprimary = Qsecondary = 48 kVAR 

 
3.10) A single-phase step-down transformer is rated 15 MVA, 66 kV/11.5 kV. 
With the 11.5 kV winding short-circuited, rated current flows when the voltage 
applied to the primary is 5.5 kV. The power input is read as 100 kW. Determine 
Req1 and Xeq1 in ohms referred to the high-voltage winding. 

Short test .لنستخرج قیمة المقاومة والملف  طالب منا نستخدم     

Primary راح یكونوا بجھة   إرجاع للجھد العالي یعنيوفي   

 Sol: 
.من المعلومات المعطاة بالسؤال  Rated بستخرج قیمة تیار ال   Shor test في     

I1rated =
Srated
Vrated

=
15 M
66 k

= 227.3 A 

P1 = I2R → R =
P1
I2

 

R =
100 k

(227.3)2
= 1.94 Ω 

 

. المقاومة بستخرج  تیار وأعطاني البورالمعي   

استخرجنا أول جزء من أجزاء الممانعة لكن الملف ما عندي أي معلومة تساعدني أستخرجھ من 
قیمة الممانعة.  خلالھا بس أعطاني الجھد ومعي التیار بستخرج من خلالھم  
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|Z1| =
V1

I1rated
=

5.5 k
227.3

= 24.2 Ω 

 Z1eq = R1eq + jX1eq 

�Z1eq� = �R1eq
2 + X1eq2 

X1eq = �Z1eq2 − R1eq
2 → X1eq = �24.22 − 1.942 = 24.12 Ω 

Z1eq = 1.94 + j24.12 Ω 

 
3.49) Consider the single-line diagram of a power system shown in Figure 3.42 
with equipment 

ratings given below: 

Generator G1:                           50 MVA, 13.2 kV, x = 0.15 pu 

Generator G2:                          20 MVA, 13.8 kV, x = 0.15 pu 

three-phase Delta–Y transformer T1:       80 MVA, 13.2 D/165 Y kV, x = 0.1 pu 

three-phase Y–Delta transformer T2:     40 MVA, 165 Y/13.8 Delta kV, x = 0.1 pu 

Load:                                 40 MVA, 0.8 p.f. lagging, operating at 150 kV 

Choose a base of 100 MVA for the system and 132-kV base in the transmission-
line circuit. Let the load be modeled as a parallel combination of resistance and 
inductance. Neglect transformer phase shifts. Draw a per-phase equivalent 
circuit of the system showing all impedances in per unit. 
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Sol: 

بقسمھ لمناطق  One line diagram بدایة بسؤال     

حل من المنطقة الأولى لأخر منطقة  دأطاني معلومات بالسؤال وببعشو أ  بشوف
 وبستخرج معلومات كل منطقة.

 

 
Vbase2 = 132 kV    Sbase = 100 MVA  

.ما بتتغیر بتبقى ثابتة لكل السؤال  Sbase حكینا    

Vbase . بتتغیر وھو أعطانا إیاھا للخط مش للمنطقة الأولى    لكن 

للمنطقة الأولى.  Vbase فلازم نستخرج    

V1
V2

=
Vbase1
Vbase2

→ Vbase1 =
V1
V2

× Vbase2 

Vbase1 =
13.2 k
165 k

× 132 k = 10.56 kV 

بستخرج معلومات المنطقة الأولى    Vbase1 صار معي قیمة 

Generator 1 

Zp.u.new = Zp.u.old �
Sbase new

Sbase old
� �

Vbase old

Vbase new
�
2
 

XT1p.u.new = j0.15 �
100 
50

� �
13.2

10.65�
2

= j0.4688 Per unit 

 Zone 1 (T1) 

Zp.u.new = Zp.u.old �
Sbase new

Sbase old
� �

Vbase old

Vbase new
�
2
 

XT1p.u.new = j0.1 �
100 
80

� �
13.2

10.65�
2

= j0.1953 Per unit 
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Zone 2 (transmission-line) 

Zbase عشان أستخرج ممانعة الخط بالبیر یونت بلزمني 

Zbaseline =
Vbase22

Sbase
→ Zbase2 =

1322

100
= 174.24 Ω 

Zp.u line1 =
Zactual
Zbase

=
50 + j200

174.24
= 0.287 + j1.1478 Per unit 

Zp.u line2 =
Zactual
Zbase

=
25 + j100

174.24
= 0.1435 + j0.5739 Per unit 

Zone 2 (T2) 

Zp.u.new = Zp.u.old �
Sbase new

Sbase old
� �

Vbase old

Vbase new
�
2
 

XT2p.u.new = j0.1 �
100 
40

� �
165
132�

2

= j0.3906 Per unit 

 Zone 3 

   .وأحولھم للبیر یونت أعطاني معلومات عن الحمل بدي أستخرج قیمة المقاومة والملف 

Load:  40 MVA, 0.8 p.f. lagging, operating at 150 kV 
 

S = 40 M∠cos−1(0.8) = 32 + j24 MVA 
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P =
V2

R
→ R =

V2

P
 

R =
V2

P
=

1502

32
= 703.1Ω 

Q =
V2

X
→ X =

V2

Q
 

R =
V2

P
=

1502

24
= 937.5Ω 

Zp.u =
Zactual
Zbase

=
703.1

174.24
= 4.035 Per unit 

Zp.u =
Zactual
Zbase

=
937.5

174.24
= 5.381 Per unit 

Zload = R//jx 

 

 Generator 2 

Zp.u.new = Zp.u.old �
Sbase new

Sbase old
� �

Vbase old

Vbase new
�
2
 

XT1p.u.new = j0.15 �
100 
20

� �
165
132�

2

= j1.1719 Per unit 
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Ch4 TRANSMISSION LINE 
 

- One of the most common conductor types is 
aluminum conductor steel-reinforced (ACSR). 

4.1 TRANSMISSION LINE DESIGN CONSIDERATIONS 
 

ومادة الماشین ومعلومات كلنا على   2وكانوا تقریبا مراجعة لمادة سیركت  3و 2شرحنا بالسابق شابتر
. معرفة فیھا من قبل  

ومواسع  حث بمقاومة وم   Transmission line سنتحدث عن كیفیة تمثیل ال   4 بشابتر  

مثال لو كان عندي دارة فیھا مصدر جھد وحمل وما بینھم خط ھذا الخط كیف بدي أعملھ دارة مكافئة  ىعل
 وھذا راح اللي راح نعرفھ بالشابتر.

 

 
.بدایة في مجموعة كونسبت بدنا نتعرف علیھم وأغلب ھذا الشابتر كونسبت   

An overhead transmission line consists of conductors, insulators, support structures, 
and, in most cases, shield wires. 

 من أشھر أنواع الموصلات استخداما 

- The use of steel strands gives ACSR conductors a high strength-to-weight ratio. 
For purposes of heat dissipation, overhead transmission-line conductors are bare 
(no insulating cover). 
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- Other conductor types: 
1. all-aluminum conductor (AAC). 

2. all aluminum-alloy conductor (AAAC). 

3. aluminum conductor alloy-reinforced (ACAR). 

4. aluminum-clad steel conductor (Alumoweld). 

5. aluminum conductor steel supported (ACSS). 

6. gap-type ZT-aluminum conductor (GTZACSR). 

7. aluminum conductor carbon reinforced (ACFR) 

- EHV lines often have more than one conductor per phase; these conductors 
are called a bundle. 

بعمل على تقسیم الأسلاك ممكن أقسمھم لقسمین أو ثلاثة أو أربعة بحیث  230الجھود اللي بتكون أعلى من 
Bundling بدل ما یكون سلك واحد یصیر على مثال سلكین وبمشوا مع بعض وھاي العملیة تسمى  

 

 
:في لھذه العملیة ممیزات ومن ھذه الممیزات   

Bundle conductors have: 

1. lower electric field strength at the conductor surfaces, thereby controlling corona. 

2. reduce the effect of corona. 

3. reduces the series reactance of the line by increasing the GMR of the bundle. 
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- Shield wires located above the phase conductors protect the phase conductors 
against lightning and grounded to the tower. 

- Tower footing resistance can be reduced by using driven ground rods or a buried 
conductor called (counterpoise) running parallel to the line. 

- Conductor spacings, types, and sizes also determine the series impedance and shunt 
admittance. 

- Difference Between Aluminum and Copper Wire: 
 

Copper  

1. has better conductivity. 

2. more expensive. 

3. less flexible. 

4. has more tensile strength. 
 

 

 

Aluminum  

1. less conductivity. 

2. cheaper. 

3. more flexible. 

4. has less tensile strength. 

5. light weight. 
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4.2 RESISTANCE 
The dc resistance of a conductor at a specified temperature (T) is: 

Rdc =
ρT L

A
 

ρT = conductor resistivity at temperature T  

L =  conductor length  

A = conductor cross − sectional area  

A =
π
4

 d2 sq mil 

A =  d2 cmil 

 

   .السؤالثابت یعطى ب

Conductor resistance depends on the following factors: 

 

1. Spiraling 

2. Temperature 

3. Frequency (skin effect) 

4. Current magnitude—magnetic conductors. 

. علیھا المقاومة العوامل اللي بتتأثر أو بتعتمد  

L جدلة الأسلاك تؤثر على الطول     
 

ρT  تؤثر على 
 

تؤثر على المساحة وراح نتعرف شو التأثیر  
.وكیف في الفقرة القادمة  

- As frequency increases, the current in a solid cylindrical conductor tends to crowd 
toward the conductor surface, with smaller current density at the conductor 
center. This phenomenon is called (skin effect). 
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Rac =
Ploss 

I2
 

 



 

- For dc, the current distribution is uniform. 

- For ac, the current distribution is nonuniform. 

- The ac resistance is at most a few percent higher than the dc resistance. 

 

Example 4.1 

Table A.3 lists a 4/0 copper conductor with 12 strands. Strand diameter is 
0.3373 cm (0.1328 in.). For this conductor: 

Verify the total copper cross-sectional area of 107.2 mm2(211,600 cmil in the 
table). 

b. Verify the dc resistance at 50 °C of 0.1876 Ω/km or 0.302 Ω/mi. Assume a 2% 
increase in resistance due to spiraling. 

c. From Table A.3, determine the percent increase in resistance at 

60 Hz versus dc. 

. في الحل  م جدولینادخستبنلجأ لا 4بشابتر   

Table A3  بستخدم Copper conductor في حال ذكر بالسؤال    

Table A4  بستخدم ACSR في حال ذكر بالسؤال    

.دوسیةسأضع رابط الجدولین والصور في نھایة ال  

a. Verify the total copper cross-sectional area of 107.2 mm2 (211,600 cmil  
in the table). 

107.2 mm2 طالب مني بالسؤال أتحقق بإنھ المساحة تساوي    

 

Sol: 
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. وبشوف شو أعطاني معطیات  بقرأ السؤال  

بستخرج منھ المساحة.   Diameter أعطاني بالسؤال 
 

A =
πd2

4
 

A =
π × (3.3730)2 × 12

4
 

A = 107.2mm2 

12 Strand لأنھ الموصل بتكون من  12ضربت ب     

ف لازم    12وأعطاني عمق كل وحدة طیب أنا عندي 
.لأحسب المساحة كاملة 12أضرب ب   

b. Verify the dc resistance at 50 °C of 0.1876 Ω/km or 0.302 Ω/mi. Assume a 2% 
increase in resistance due to spiraling. 

.50طالب مني أتحقق من قیمة المقاومة عند درجة حرارة    

Rdc =
ρT L

A
 

ρT  ّمعي كل شي إلا 

وبالامتحان بتكون معطى لكن بالكتاب نستخرجھا 
 حسب المعطیات. 

ρT = ρT1 ×
T2 + T
T1 + T

→ ρ50 = 1.77 × 10−8 ×
50 + 241.5
20 + 241.5

= 1.973 × 10−8Ω − m 

 
Rdc =

(1.973 × 10−8) × 1000 × 1.02
107.2 × 10−6

 

Rdc = 0.1877 Ω/km  

 

Rdc =
ρT L

A
+
ρT L

A
× 0.02 

Rdc =
ρT L

A
(1 + 0.02) 

Rdc =
ρT L

A
× 1.02 

 
 

%2لأنھ عندي نسبة زیادة  1.02ضربت ب   
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c. From Table A.3, determine the percent increase in resistance at 60 Hz versus dc. 

وبستخرج من الجدول تغیر التردد وبتغیر التردد أكید حتتغیر المقاومة    

R60 Hz,50° C

Rdc,50° C
=

0.1883
0.1877 

= 1.003 

R60 Hz,25° C

Rdc,50° C
=

0.1727
0.1715 

= 1.007 

 

Ohm/mile بالجدول الوحدة     

Ohm/km بحولھا     

Thus, the 60-Hz resistance of this conductor is about 0.3–0.7% higher than the dc 
resistance. 

4.3 CONDUCTANCE 

- Corona occurs when a high value of electric field strength at a conductor 
surface causes the air to become electrically ionized and to conduct. The real 
power loss due to corona, called corona loss, depends on meteorological 
conditions, particularly rain. 

- Transmission line conductance is usually neglected in power system studies. 

4.5 INDUCTANCE: SINGLE-PHASE TWO-WIRE LINE AND 
THREE-PHASE THREE-WIRE LINE WITH EQUAL PHASE 
SPACING 

لنقدر نحل ما تبقى   القانون  إثباتھ بس لازم نكون عارفینب ینمحذوف لإنھ إثبات لقانون مش مطالب 4.4سكشن 
  .من الشابتر علیھ وسیتم ذكره في ھذا السكشن
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Lx = 2 × 10−7 ln�
D
rx

, �  (H/m)  

Ly = 2 × 10−7 ln�
D
ry

, �  (H/m)  

Ltotal = Lx + Ly  

Ltotal = 2 × 10−7 �ln
D
rx

, �  + 2 × 10−7 ln�
D
ry

, �  

Ltotal = 2 × 10−7 �ln�
D
rx

, �  + ln�
D
ry

, �� 

Ltotal = 2 × 10−7 ln�
D2

rx
, ry

, � 

Ltotal = 4 × 10−7 ln�
D

�rx
, ry

, � 

if rx
, = ry

, = r, 

Ltotal = 4 × 10−7 �ln
D
r,� 

Ltotal = Lx + Ly  

 

 ملاحظات: 
D: الخارجیة  ت المسافا    

 rx and ry:    نصف القطر 

rx
, = 0.7788 rx = e−

1
4 rx 

ry
, = 0.7788 ry = e−

1
4 ry 

 

- single-phase two-wire line: 

المھم نكون عارفین إنھ على 
التوالي وبنقدر نستخرج كل 

. واحد لحال ونجمعھم  
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- three-phase three-wire line 

L = 2 × 10−7 ln �
D
r,�  (H/m)  

 

.وحدة بالقانون  D المثلث المسافات متساویة لھیك أخذنا  في في ھاي الحالة بنظام ثلاثي الطور    
 

three-phase three-wire line with equilateral spacing: 

- For a balanced three-phase, positive-sequence currentsIa , Ib , Ic does the equation 
Ia  + Ib  + Ic = 0 

4.6 INDUCTANCE: COMPOSITE CONDUCTORS, UNEQUAL PHASE 
SPACING, BUNDLED CONDUCTORS 

D =  √D × D × D3  = �D33 = D 

 

- A stranded conductor is one example of a composite conductor. 

- single-phase two-conductor line: 

  Strand 2 بكون كل واحد منھم مكون من  Conductor بالواقع بكون عنا     

Conductor X  أول واحد بكون اسمھ كمثال 

Conductor Y واحد بكون اسمھ كمثال   ثاني  

 Conductor X consists (N) identical strand rx 

Conductor Y consists (M) identical strand ry                                                                                                                           
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ry =  rx  مش شرط  
 



 

   .بالصورة توضیح لما تم شرحھ بالأعلى

. لة وإثباتھ غیر مطالبین فیھ الازم نعرف القانون اللي راح نشتغل علیھ بخصوص ھاي الح  

Ly = 2 × 10−7 ln�
Dxy

Dyy
�  (H/m)  

Lx = 2 × 10−7 ln �
Dxy

Dxx
�  (H/m)  

Dxx and Dyy is called the geometric mean radius (GMR) of conductor 
x and y              المسافات الداخلیة 

Dxy is called the geometric mean distance (GMD) between 
conductors x and y    المسافات الخارجیة           

Dxy = المسافات الخارجیة �
M×N

 

Dxx = المسافات الداخلیة �
N×N

 

Dyy = المسافات الداخلیة �
M×M

 

 
 سیتم شرح كیفیة التطبیق على القانون والتفاصیل المتبقیة في المثال القادم. 
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Example 4.2 

Expand (4.6.6), (4.6.7), and (4.6.9) for N =  3 and M = 2. Then evaluate Lx, 
Ly, and L in H/m for the single-phase two-conductor line shown in Figure  

Sol: 
 Lx and Ly and Ltotal وطالب   2 Conductor   أعطاني 

𝑎𝑎) Ly = 2 × 10−7 ln�
Dxy

Dyy
�  (H/m)  

 
 Dxy للمسافات الخارجیة 

كالأتي:  Y وبمشي فیھم لنقاط   X    یعني باخذ نقطة نقطة من
M=2 , N=3 

Dxy = �D11́ × D12´ × D21́ × D22´ × D31́ × D32´
2×3  

Dxy = �D11́ × D12´ × D21́ × D22´ × D31́ × D32´
6  

D11́ = 0.5 + 1.5 + 2 = 4 m            D12´ = 4.3 m           D21́ = 3.5 m  

D22´ = 3.8 m                   D31́ = 2 m                 D32´ = 2.3 m     

Dxy = √4 × 4.3 × 3.5 × 3.8 × 2 × 2.36 = 3.189 m 

. ذر مساویة لرتبة الجذرجلازم عدد الأسس الموجودة داخل ال   

.یعني صحیح 6لي بداخل الجذر یساوي یعني الجذر من الرتبة السادسة والأسس ال  
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D𝑦𝑦y = �D1́ 2´ × D2´1́ × D1́ 1́ × D2´2´
2×2  

D1́ 1́ = D2´2´ = ry
,  مسافتھ على نفسھ            

ry
, = ry × 0.7788 = 0.04 × 0.7788 = 0.03115 m 

D1́ 2´ = D2´1́ = 0.3 m 

Dyy = √0.3 × 0.3 × 0.03115 × 0.031154 = 0.09667 m 

Ly = 2 × 10−7 ln �
3.189

0.09667 
�  = 6.992 × 10−7 H/m 

 

 b) Lx = 2 × 10−7 ln �
Dxy

Dxx
�  (H/m)  

Dxy = 3.189 m 

 
Dxx = �D11 × D12 × D13 × D21 × D22 × D23 × D31 × D32 × D33

3×3  

D11 = D22 = D33 = rx
,    مسافتھ على نفسھ        

ry
, = rx × 0.7788 = 0.03 × 0.7788 = 0.02336 m 

D12 = 0.5 m           D13 = 2 m              D21 = 0.5 m            

D23 = 1.5 m          D31 = 2 m                       D32 = 1.5 m 

Dxx = �(0.02336)3  × 2 × 2 × 0.5 × 1.5 × 0.5 × 1.59 = 0.3128 m 

Lx = 2 × 10−7 ln �
3.189

0.3128 
�  = 4.644 × 10−7 H/m 

 

 

.نفس اللي استخرجناھا بالأعلى  

c) Ltotal = Lx + Ly  

Ltotal = 4.644 × 10−7 + 6.992 × 10−7 = 1.164 × 10−6 H/m 
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Example 4.3 

A single-phase line operating at 60 Hz consists of two 4/0 12-strand copper 
conductors with 1.5 m spacing between conductor centers. The line length is 32 
km. Determine the total inductance in H and the total inductive reactance in Ω. 

Sol: 
a- total inductance in H 

Ly = Lx = 2 × 10−7 ln �
GMD
GMR

� (H/m) 

GMD = 1.5 m 

GMR = 0.01750 feet or 0.005334 m 

Ly = Lx = 2 × 10−7 ln �
1.5

0.005334
� × 32 × 103(m) = 0.03609 H 

 
 
 

 Ly = Lx  

ذكرنا بما إنھ المسافات بتكون بعیدة 
تساویات عن بعض ف بنعتبر انھم م  

المسافات  وخاصة إذا كانوا حسب ل مرة أكلكن عملیا ما بزبط   GMR and GMD حسبنا بالمثال السابق    

 بین الموصلات بعیدة كثیر بھاي الحالة بعتبر  

GMR .وفرت الشركات الصانعة عدة كتیبات للموصلات   أما بالنسبة ل الموصلات   

A3 and A4 وسیتم التوضیح في المثال القادم.  جدول   اوبالمادة بنستخدم جدولین لاستخراجھ  

 GMD  تقریبا المسافة بین مراكز ساوي یبین الموصلات  

if the distances between conductors are large compared to the distances 
between subconductors of each conductor, then the GMD between 
conductors is approximately equal to the distance between conductor 
centers. 

لھیك ضربت بالطول    H    السؤال طالب تكون بوحدة

 Ltotal = Lx + Ly  

Ltotal = 2 × 0.03609 = 0.07218 H 

 طریقة الاستخراج في الأسفل
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من الجدول   GMR طریقة استخراج  -  
بشوف نوع الموصل الموجود عشان أعرف أي جدول أستخدم وبما إنھ موصل نحاسي بستخدم  -1

A3 جدول 

  بأخذ معلومات الموصل من السؤال وببحث عنھا بالجدول أعطاني  -2

4/0 and number of strands=12    معلومات 

GMR على خانة  ببحث عن ھاي المعلومات بالجدول وبروح  -3 

Feet   بلاقي رقم ولكن ھذا الرقم في وحدة ال -4

في وحدة الفیت.   GMR في وحدة الفیت بخلي ال   GMD في حال أعطى ال  -  

GMR المتر.وحدة ل  ال  المتر بحولفي وحدة   GMD   في حال أعطى ال -

فیت.  لتوحید الوحدات لأنھ ما بزبط أقسم متر على  

b) total inductive reactance in Ω. 
 XL = 2π × f × L = 2π × 60 × 0.07218 = 27.21 Ω 

 
 
 

three-phase three-wire line with unsymmetrical spacing: 
- three-phase three-wire line 

 - balance can be restored by exchanging the conductor positions along the line, 
a technique called transposition. 

أخذنا سابقا لما كانت المسافات متساویة واعرفنا القانون الخاص فیھ وھذا اشي مش عملي بالحیاة اللي بنشوفھ 
بكونوا على مسافات غیر متساویة وبما إنھ المسافات مش متساویة لازم نخلیھم متساویات عن طریق التبدیل 

ي ما بنشوف بالشكل اللي عالیسار وھاي بینھم یعني كل فترة من مسافة معینة ببدل بین كل فیز والثاني ز  
Transposition العملیة تسمى 
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 - To calculate inductance of this line, assume balanced positive-sequence 
currents Ia,  Ib,  Ic for wich  Ia +  Ib +  Ic = 0 

- To calculate inductance: 

L = 2 × 10−7 ln �
Deq

DS
�  (H/m)  

Deq =  �D12 × D23 × D31
3   

Deq is the geometric mean distance between phases . 

DS is the conductor GMR for stranded conductors, or r’ for solid cylindrical 
conductors. 

Example 4.4 

A completely transposed 60-Hz three-phase line has flat horizontal phase 
spacing with 10 m between adjacent conductors. The conductors are 806 mm2 
(1,590,000 cmil) ACSR with 54/3 stranding. Line length is 200 km. Determine the 
inductance in H and the inductive reactance in Ω. 

 
10 

Sol: 

La = 2 × 10−7 ln �
Deq

DS
�  (H/m)  

Deq =  �D12 × D23 × D31
3  = √10 × 10 × 203 = 12.6 m 

DS = 0.0520 ft ×
1 m

3.28 ft
= 0.0159 m 

La = 2 × 10−7 ln �
12.6 

0.0159
� ×  200000 (m)  = 0.267 H 

 

 من الجدول وبما إنھ 

ACSR 

A4    بستخدم جدول

10 
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Xa = 2π × f × L = 2π × 60 × 0.267 = 101 Ω 

 

 

 

Ω    طالبھا بوحدة

 لھیك ضربت بالطول 

 بالأعلى 

4أو   3أو  2إنھ بكون السلك نفسھ مقسم لعد أقسام   Bundling أول الشابتر عملیة تسمى   ذكرت  -  

فلازم المسافة   بحیث المسافة بینھم تكون متساویة یعني على سبیل المثال السلك یكون مقسم لثلاثة أقسام
المسافات متساویة.أدناه بنلاحظ  الصورة مثال علیھاتكون بین الثلاثة أقسام داخل السلك متساویة ك  

- Bundled Conductor  

Bundle conductors have: 

1. lower electric field strength at the conductor surfaces, thereby controlling corona. 

2. reduce the effect of corona. 

3. reduces the series reactance of the line by increasing the GMR of the bundle. 

 

- It is common practice for EHV lines to use more than one conductor per phase, a 
practice called bundling. 

L = 2 × 10−7 ln�
Deq

Ds
b �  (H/m)  

 

Bundle ھذا القانون بحسابات ال  بنستخدم   

Ds  تختلف عنابلكن   

 وبالصفحة القادمة بنعرف طریقة إیجادھا لكل حالة 

85 



 

- bundles consisting of two, three, or four conductors. 

For a two-strand bundle: 

Ds
b =  �(Ds × d)24  = �(Ds × d) 

 

For a three-strand bundle: 

Ds
b =  �(Ds × d × d)39  = �(Ds × d2)3  

 

For a four-strand bundle: 

Ds
b =  �(Ds × d × d × √2d)4

16
 = 1.09�(Ds × d3)4  

 

- If the phase spacings are large compared to the bundle spacing, then sufficient 
accuracy for Deq is obtained by using the distances between bundle centers. 
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Example 4.5 

Each of the 806 mm2 conductors in Example 4.4 is replaced by two 403 mm2 
ACSR 26/2 conductors, as shown in Figure. Bundle spacing is 0.40 m. 

Sol: 

Ds لكن ھون مقسم الفیز الواحد لقسمین یعني نقس الحل ولكن راح تختلف عنا قیمة   4.4ھذا المثال نفسھ مثال    

لكن بدنا ننتبھ إنھ غیر نوع الموصل عشان نستخرج القیمة الجدیدة من الجدول   Bundle  بما إنھ  

La = 2 × 10−7 ln�
Deq

Ds
b �  (H/m)  

Deq =  �D12 × D23 × D31
3  = √10 × 10 × 203 = 12.6 m 

DS = 0.0375 ft ×
1 m

3.28 ft
= 0.0114 m 

Ds
b =  �(Ds × d)24  = �(Ds × d) 

Ds
b = �0.0114 × 0.40) = 0.0676 m 

La = 2 × 10−7 ln �
12.6 

0.0676 
� (H/m) × 200 × 103(m) 

La = 0.209 H 

Xa = 2π × f × L = 2π × 60 × 0.209 = 78.8 Ω 

 

 

 

 من الجدول وبما إنھ 

ACSR 

A4    بستخدم جدول

Ω     بوحدة الناتج طالب 

 لھیك ضربت بالطول 
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4.7 SERIES IMPEDANCES: THREE-PHASE LINE WITH NEUTRAL 
CONDUCTORS AND EARTH RETURN 

All the neutral conductors are connected in parallel and are grounded to the earth 
at regular intervals along the line. Any isolated neutral conductors that carry no 
current are omitted. The phase conductors are insulated from each other and 
from earth If the phase currents are not balanced, there may be a return current 
in the grounded neutral wires and in the earth. The earth return current will 
spread out under the line, seeking the lowest impedance return path. it can be 
replaced by a set of ‘‘earth return’’ conductors located directly under the 
overhead conductors. then each earth return conductor carries the negative of its 
overhead conductor current. 

- Parallel-Circuit three phase lines 

على نفس عامود الجھد العالي   خاص فیھا موجودات  فیز 3  كل وحد إلھا بھاي الحالة بكون عندي شبكتین
من إحدى خصائصھا تقلیل الخسائر بالأسلاك، زیاد التیار زي ما بنلاحظ بالصورة متصلات على التوازي 

والثانیة   للصیانة المنقول، بزید القدرة المنقولة وأھم میزة لو صار عندي خلل بشبكة ممكن أفصل وحدة
 بتضل شغالة.

It is a three-phase double circuit of two identical three phase circuit. 
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- To calculate line inductance: 

L = 2 × 10−7 ln �
GMD
GMR

� (H/m) 

 
- To find GMD: 

DAB =  �DAB × DAB’ × DA’B × DA’B’
4   

DBC =  �DBC × DBC’ × DB’C × DB’C’
4   

DCA =  �DCA × DCA’ × DC’A × DC’A’
4   

GMD =  �DAB × DBC × DCA
3   

 
- To find GMR: 

DAA =  �(DS × DAA’)2
4  = �DS × DAA’ 

DBB =  �(DS × DBB’)2
4  = �DS × DBB’  

DCC =  �(DS × DCC’)2
4  = �DS × DCC’  

GMR =  �DAA × DBB × DCC
3   
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4.9 CAPACITANCE: SINGLE-PHASE TWO-WIRE LINE AND 
THREE-PHASE THREE-WIRE LINE WITH 

 وطریقةبین الخطوط  بالشابتر بحساب المقاومة والملف وبھذا السكشن راح نتعرف على كیفیة حساب المواسعات بلشنا    
 الحساب نفس طریقة الملف ولكن باختلاف بسیط في القانون.

Cxy =
πϵ

ln (D r)⁄  F/m (line to line) 

- single-phase two-wire line 

Cxy =
2πϵ

ln (D r)⁄  F/m (line to neutral) 

 نفس التطبیق ولكن r .نأخذھا نفسھا یعني نفس القطر الفعلي 

r:  نصف  القطر الفعلي 

D:   المسافات الخارجیة 
 

 
 

- When calculating line capacitance, it is normal practice to replace a stranded 
conductor by a perfectly conducting solid cylindrical conductor whose radius equals 
the outside radius of the stranded conductor. 
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4.10 CAPACITANCE: STRANDED CONDUCTORS, UNEQUAL PHASE 
SPACING, BUNDLED 

 

   
- three-phase lines with unequal phase spacing: 

Cxy =
2πϵ

ln (Deq r)⁄  F/m (the capacitance per phase to neutral) 

- The sum of the two line-to-line voltagesVab  +  Vac, is equal to three-times the 
line to- neutral voltage Van 
 

- in three-phase line with equal phase spacing, we shall neglect the effect of earth 
and neutral conductors here. To determine the positive-sequence capacitance, 
assume positive-sequence charges, 𝐪𝐪𝐚𝐚 + 𝐪𝐪𝐛𝐛 + 𝐪𝐪𝐜𝐜 = 𝟎𝟎 

Deq = �D12 × D23 × D31
3  

.نصف القطر الفعلي نأخذنفس ما أخذنا سابقا لكن زي ما قلت إنھ   

- Bundled Conductor  
. نفس ما تم شرحھ سابقا ما في أي اختلاف غیر القوانین   

Cxy =
2πϵ

ln (Deq DSC)⁄  F/m  
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DSC = �(r × d) 

 

DSC =  �(r × d2)3  

 

DSC = 1.09�(r × d3)4  

 

- for two-conductor bundle: 

- for three-conductor bundle: 

- for four-conductor bundle: 

- shunt admittance is : 

Yxy = jωCxy 

- the reactive power delivered by phase a is : 

QC1ϕ = Y × Van2  

- The total reactive power supplied by the three-phase line is: 

QC3𝜙𝜙 = 3ω × Can × VLN2 = ω × Can × VLL2  
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Example 4.6 

For the single-phase line in Example 4.3, determine the line-to-line capacitance 
in F and the line-to-line admittance in S. If the line voltage is 20 kV, determine 
the reactive power in kVAR supplied by this capacitance. 

Sol: 

Cxy =
πϵ

ln (D r)⁄  F/m  

 استخدمت ھذا القانون لأنھ ذاكر بالسؤال

Single phase line 

Line to line     وطالب یكون 

 الثوابت معطاة 

D:    ذكر بالسؤال بالرجوع للمثال السابق واستخرجناھا   

r طریقة استخراج 

. شو نوع الموصل بشوف بالسؤال  -1 

المناسب. بروح على الجدول   -2 

outside diameter  .2بأخذ منھا الرقم وبقسمھ على     بروح على خانة -3 

Cxy =
π × (8.854 × 10−12)

ln (150 0.7 )⁄  F/m × 32 × 103m = 1.66 × 10−7F  

D = 150 cm , r =
diameter

2
=

0.552
2

in = 0.276 inch 

1inch = 2.54 cm →  0.276 inch ×
2.54 cm
1 inch

= 0.7 cm → D = 0.7 cm 
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b) shunt admittance is: 

Yxy = jωCxy 

Yxy = j × 2 × π × 60 × 1.66 × 10−7 = j6.258 × 10−5 S 

 

c) the reactive power in kVAR supplied by this capacitance: 

QC = Y × Van2 = (6.258 × 10−5) × (20 × 103)2 = 25.032 kVAR 

 

4.11 SHUNT ADMITTANCES: LINES WITH NEUTRAL CONDUCTORS 
AND EARTH RETURN 

 

   

The effect of the earth plane is accounted for by the method of image, When the 
conductor has a positive charge, an equal quantity of negative charge is induced on 
the earth. The electric field lines will originate from the positive charges on the 
conductor and terminate at the negative charges on the earth. Also, the electric 
field lines are perpendicular to the surfaces of the conductor and earth. replace the 
earth by the image conductor, which has the same radius as the original conductor, 
lies directly below the original conductor with conductor separation, and has an 
equal quantity of negative charge. The electric field above the dashed line 
representing the location of the removed earth plane is identical to the electric 
field above the earth plane. Therefore, the voltage between any two points above 
the earth is the same in both figures. 
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4.12 ELECTRIC FIELD STRENGTH AT CONDUCTOR SURFACES AND 
AT GROUND LEVEL 

 

   

When the electric field strength at a conductor surface exceeds the breakdown 
strength of air, current discharges occur. This phenomenon, called corona, causes 
additional line losses (corona loss), communications interference, and audible 
noise. Although breakdown strength depends on many factors, a rough value is 30 
kV/cm in a uniform electric field for dry air at atmospheric pressure. The presence 
of water droplets or rain can lower this value significantly. To control corona, 
transmission lines are usually designed to maintain calculated values of conductor 
surface electric field strength below 20 kVrms/cm. 
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4.10) A 60-Hz three-phase, three-wire overhead line has solid cylindrical 
conductors arranged in the form of an equilateral triangle with 4 ft conductor 
spacing. Conductor diameter is 0.5 in. Calculate the positive-sequence inductance 
in H/m and the positive sequence inductive reactance in Ω/km. 

Problems Ch4 
 

Sol: 

L = 2 × 10−7 ln �
D
r,�  (H/m)  

 D = 4ft 

بما إنھ ذكر إنھ المثلث متساوي 
الأضلاع یعني المسافات 

الجذر   نأخذمتساویة وللتأكد 
4تكعیب بطلع  4التكعیبي ل    

r, = 0.7788 × r 

r, = 0.7788 × 0.020833  

r, = 0.016225 feet  

 

 

r =
d
2

=
0.5 inch

2
= 0.25 inch 

لتوحید الوحد  Feet ل  inch      بنحول من

r = 0.25 inch × 
1 feet

12inch
= 0.020833 feet 

L = 2 × 10−7 ln �
4

0.016225�
   

L = 1.101 × 10−6 (H/m)  

XL = 2 × π × f × L 

XL = 2 × π × 60 × 1.101 × 10−6 = 4.153 × 10−6Ω/m = 0.4153 Ω/km 
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4.22) The conductor configuration of a bundled single-phase overhead 
transmission line is shown in Figure 4.31. Line X has its three conductors situated 
at the corners of an equilateral triangle with 10-cm spacing. Line Y has its three 
conductors arranged in a horizontal configuration with 10-cm spacing. All 
conductors are identical, solid cylindrical conductors, each with a radius of 2 cm. 
(a) Find the equivalent representation in terms of the geometric mean radius of 
each bundle and a separation that is the geometric mean distance. 

 

   

 

Sol: 

DXY = �(6.1)2 × (6.2)2 × (6) × (6.3) × (6.05) × (6.15) × (6.25)9  

DAB = 6.15 m             

RX = �Ds × (d)23  

RX = �0.02 × 0.7788 × (0.10)23 = 0.0538 m 

RY = �(0.1)4 × (0.2)2 × (0.015576)39  

RY = 0.0628 m 

 

 

Ds = 0.7788 × 0.02 

Ds = 0.015576 m 
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DSC 

4.41) Calculate the capacitance-to-neutral in F/m and the admittance-to-neutral 
in S/km of a bundled 500-kV, 60-Hz, three-phase completely transposed 
overhead line having three ACSR 1113-kcmil (556.50 mm2) conductors per 
bundle, with 0.5 m between conductors in the bundle. The horizontal phase 
spacings between bundle centers are 10, 10, and 20 m. Also calculate the total 
reactive power in Mvar/km supplied by the line capacitance when it is operated 
at 500 kV. Neglect the effect of the earth plane 

Sol: 

C1 =
2πϵ

ln (Deq DSC)⁄  F/m  
بالسؤال طالب  استخدمت ھذا القانون لأنھ  

Line to neutral     یكون 

Deq = √10 × 10 × 203 = 12.6 m 

DSC = �r × d23  

 

DSC = �r × d23  

DSC = �0.01642 × 0.523  

DSC = 0.16 m 

 

 

Bundle ذاكر بالسؤال 

غیر معطاة بالسؤال بروح على الجدول  r  قیمة 

ACSR  لأنھ ذكر إنھ A.4 بستخدم جدول 

Out side diameter بشوف معلومات الموصل وبروح على خانة     

r =
d
2

=
1.293 inch

2
= 0.6465 inch 

  بنحول من inch  ل meter لتوحید الوحد

r = 0.6465 inch ×
0.0254 m

1 inch
= 0.01642 m 

 

C1 =
2π × 8.854 × 10−12

ln (12.6 0.16)⁄  

 C1 = 1.2741 × 10−11F/m 
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b) Shunt admittance 

Y1 = jωC1 = j2 × π × f × C1 

Y1 = j × 2 × π × 60 × 1.2741 × 10−11 = 4.8032 × 10−9 S 

Y1 = 4.8032 × 10−6 S/km 

 

-c) Reactive power: 

Q1 = Y × VLL2  

Q1 = 4.8032 × 10−6 × 5002 = 1.2 MVAR/km 
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Ch5 TRANSMISSION LINES: 

STEADY-STATE OPERATIONPARAMETERS 

وكل ھذا حسبناه عشان نعمل على تكوین   سعوالمواكیف نحسب المقاومة والمحث  4شابتر في بدایة أخذنا  
  5سیركت وحدة لخطوط النقل وھذا ھو عنوان شابتر 

أطوال للخطوط وھم: 3  اعنوأولا بدنا نعرف إنھ في للخطوط أنواع بدنا نعرف كیف نحددھم   

1- Short-length transmission-line approximations 

2- Medium-length transmission-line approximations 

3- Long-length transmission-line approximations 

 
5.1 MEDIUM AND SHORT LINE APPROXIMATIONS 

100 

- Short-length transmission-line approximations: 

 بدایة عنا الشورت وبكون أقل من km 80  .وبنھمل فیھا المواسع 

بكون صغیر جدا.  Current leakage برجع لأنھ   لوسبب الإھما   

 

 

 

 

 

 

 

 

The length of the transmission line is less than (80 km). 

The series resistance and reactance are included. The shunt admittance is 
neglected. 
 



 

. معرفة أجزاءھامع متحان لالازم نعرف شكل السیركت لكل خط لأنھ بتكون مطلوبة با   

VS: sending-end voltage 

VR: receiving-end voltage 

Z = z L = (R + jωl) × L 

 

بس كنا نحسب المقاومة أو الملف أو   4شابتر في 
 المواسع كانت الوحد تضمن بیر متر أو كیلو متر

بھذا الشابتر إحنا بدنا الممانعة الكلیة لھیك بنضرب 
. بالطول  

VS = ZIR + VR 

IS = IR 
جبت المعادلات ھاي بناء على الدارة 

 مصفوفةبالأعلى وراح نمثلھم ب
. لنوصل لشغلة معینة  

VS
IS

= �A B
C D�

VR
IR

 

Sol: 

VS = AVR + BIR 

IS = CVR + DIR 
یجادلإمقارنة بین المعادلتین بالأعلى والأسفل  بنعمل  

A B C D 

A = 1(per unit) , B = Z (Ω), C = 0 (S), D = 1 (per unit) 

 ملاحظة:  
A B C D 

 عناصر مطلوب إیجادھا بالامتحان ومعادلاتھم ثابتة لكل نوع خط

A=D    دائما 
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As applied to linear, passive, bilateral two-port networks, the ABCD 
parameters satisfy AD - BC = 1. 

 بمعنى أن ال  Determine   1دائما یساوي   للمصفوفة

 



 

 مطالیب ممكن یطلبھا على الدارة:

Voltage regulation =
|VR(nl)| − |VR(fl)|

|VR(fl)|
× 100% =

|VS| − |VR|
|VR|

× 100% 

Efficiency =
Pout
Pin

× 100% 

SS = 3VSIS∗ 

- Phasor diagrams for a short transmission line: 

1- Lagging pf 

2- Leading pf 
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Type equation here. 

2- Medium-length transmission-line approximations 

 The length of the transmission line typically ranging from 80 to 250 km. 

The shunt admittance must be considered. 
 

- The circuit called a nominal 𝛑𝛑 circuit. 

ما بنھمل المواسع بندخلھا بحساباتنا   Medium بال 

. بالتالي راح تختلف المعادلات والعناصر بمعنى لكل نوع خط في معادلات خاصة فیھ  
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بدایة ھاي ھي السیركت اللي بنتعامل معھا بھذا النوع من الخطوط  
 مطلوب أیضا نعرفھا ونعرف اجزاءھا.

VS: sending-end voltage 

VR: receiving-end voltage 

Z = z L = (R + jωl) × L 

Y = (jωc) × L 
 

 

Shunt admittance  بس كنا نحسب  4بشابتر  

كانت الوحدة بتضمن بیر كیلو متر أو متر زي ما 
وضحت بالأعلى بخصوص الممانعة أیضا ھون  

بالطول.نفس الشيء بنضرب   

VS = VR + Z �IR +
VRY

2 � 

𝐕𝐕𝐒𝐒 = �𝟏𝟏 +
𝐘𝐘𝐘𝐘
𝟐𝟐 �

𝐕𝐕𝐑𝐑 + 𝐙𝐙𝐈𝐈𝐑𝐑 

IS = IR +
VRY

2
+

VSY
2

= IR +
VRY

2
+ ��1 +

YZ
2 �VR + ZIR�

Y
2

 

 

kvl and kcl   الأن بدنا نحل الدارة وانسب طریقة للحل ھي إنھ نستخدم  

 



 

 بعد ما استخرجت المعادلات الأن بدي أمثلھم بماتركس عشان 

ABCD  أستخرج المعاملات 
VS
IS

= �A B
C D�

VR
IR

 

Sol: 

VS = AVR + BIR 

IS = CVR + DIR 
یجادلإبنعمل مقارنة بین المعادلتین بالأعلى والأسفل   

A B C D 

𝐀𝐀 = 𝐃𝐃 = 𝟏𝟏 +
𝐘𝐘𝐘𝐘
𝟐𝟐

  (𝐏𝐏𝐏𝐏𝐏𝐏 𝐮𝐮𝐮𝐮𝐮𝐮𝐮𝐮)  

𝐁𝐁 = 𝐙𝐙 (Ω) 

𝐂𝐂 = 𝐘𝐘�𝟏𝟏 +
𝐘𝐘𝐘𝐘
𝟒𝟒 �

 (𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒) 

 
الدارة:مطالیب ممكن یطلبھا على   

Voltage regulation =
|VR(nl)| − |VR(fl)|

|VR(fl)|
× 100% =

|VS|
A − |VR|

|VR|
× 100% 

Efficiency =
Pout
Pin

× 100% 

SS = 3VSIS∗ 

𝐈𝐈𝐒𝐒 = 𝐘𝐘�𝟏𝟏 +
𝐘𝐘𝐘𝐘
𝟒𝟒 �

𝐕𝐕𝐑𝐑 + �𝟏𝟏 +
𝐘𝐘𝐘𝐘
𝟐𝟐 �

𝐈𝐈𝐑𝐑 
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The loadability of short transmission lines (less than 80 km, represented by 
including only series resistance and reactance) is determined by thermal limit; 
that of medium lines (less than 250 km, represented by nominal _ circuit) is 
determined by voltage-drop limit; and that of long lines (more than 250 km, 
represented by equivalent_ circuit) is determined by steady-state stability limit. 
Fill in the Blanks . 

Example 5.1 

A three-phase, 60-Hz, completely transposed 345-kV, 200-km line has two 

795,000-cmil (403-mm2) 26/2 ACSR conductors per bundle and the following 

positive-sequence line constants:  

z = 0.032 + j0.35 Ω/km  

y = j4.2 × 10−6 S/km   

Full load at the receiving end of the line is 700 MW at 0.99 p.f. leading and at 
95% of rated voltage. Assuming a medium-length line, determine the following: 

 

بدایة لازم نعرف شو طول الخط لنعرف على أي معادلات لازم نشتغل وبما إنھ  
.كیلو متر یعني بنشتغل على معادلات المیدیوم 200  

a. ABCD parameters of the nominal π circuit 

b. Sending-end voltage Vs, current Is,  

and real power Ps 

c. Percent voltage regulation 

d. Transmission-line efficiency at full load 
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Sol: 
a. ABCD parameters of the nominal 𝛑𝛑 circuit 

 ذكرت إنھ راح نحل على معادلات المیدیوم بس قبل ھیك بدنا ننتبھ إنھ أعطانا بالسؤال 

متر فلازم نحولھموحداتھم بیر كیلو    z and y 

Z = zl = (0.032 + j0.35) Ω/km × 200 km = 6.4 + j70 = 70.29∠84.78° Ω  

Y = yl = j4.2 × 10−6 S/km × 200 km = 8.4 × 10−4 ∠90° S   

 
A = D = 1 +

YZ
2

    

A = D = 1 +
(8.4 × 10−4 ∠90°) × (70.29∠84.78° )

2
 

A = D = 0.9706∠0.159° perunit 

 

B = Z = 70.29∠84.78°Ω 

C = Y �1 +
YZ
4 �  

C = 8.4 × 10−4 ∠90° × �1 +
(8.4 × 10−4 ∠90°) × (70.29∠84.78° )

4 �  

C = 8.277 × 10−4 ∠90.08° S 

 

 b. Sending-end voltage Vs, current Is, and real power Ps 

VR = 0.95 × 345 = 327.8 kVLL  

VR =
327.8 k
√3

= 189.2 kVLN 
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 ذكر بالسؤال إنھ

Receiving voltage 95% of rated voltage 

وحولتھا ل  0.95لھیك ضربت ب   

Line to neutral 



 

P = √3 VR(LL)IR(LL) cos(θ) 

IR =
700 × 106∠cos−1(0.99)

√3 × (327.8 × 103) × (0.99)
= 1.246∠8.11° kA 

 

 
VS = AVR + BIR 

VS = (0.9706∠0.159°) × 189.2 k + (70.29∠84.78°) × (1.246∠8.11° k) 

VS = 199.6∠26.14° kVLN 

VS = 199.6 × √3  = 345.8 kVLL 

 

IS = CVR + DIR 

IS = (8.277 × 10−4 ∠90.08° ) × 189.2 k + (0.9706∠0.159°) × (1.246∠8.11° k) 

IS = 1.241∠15.5° kA  

 

Ps = √3 VR(LL)IR(LL) cos(θ) 

Ps = √3 (345.8 k)(1.241 k) cos(26.14° − 15.5°) = 730.5 MW 

 

 

 

 

 

c. Percent voltage regulation 

Voltage regulation =
|VS|

A − |VR|
|VR|

× 100% 

Voltage regulation =
345.8

0.9706 − 327.8
327.8

× 100% = 8.7% 
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Note: Voltage regulation can be negative. 



 

d. Transmission-line efficiency at full load 

Efficiency =
Pout
Pin

× 100% =
PR
PS

× 100% =
700 MW

730.5 MW
× 100% = 95.8% 
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5.2 TRANSMISSION-LINE DIFFERENTIAL EQUATIONS 

The length of the transmission line longer than 250 km. 

Long طولھ أكبر من الأطوال السابقة وبھذا النوع مراح نعمل على تجزئة السلك   ال    

.إلى عدد لا نھائي من الأجزاء  

(L) راح نعمل على تجزئة الخط كامل اللي طولھ    Long ھاي سیركت ال 

إلى عدد لا نھائي من الأجزاء وراح أبدأ أشتق بالقوانین لاستخراج قانون التیار والجھد 
 واللي بھمنا فقط القانون الأخیر وراح أمیزه بالغامق  الاشتقاق فقط للتوضیح.

L 

KVL equation for the circuit: 

V(x + ∆x) = V(x) + (z∆x)I(x) 

Rearranging: 

zI(x) =
V(x + ∆x) − V(x)

∆x
 

dV(x)
dx

= zI(x) → equation 1 

بنلاقي إنھ ھذا   1لو نرجع لكالك 
.الشكل نفسھ تعریف المشتقة  



 

KCL equation for the circuit: 

I(x + ∆x) = I(x) + (y∆x)V(x + ∆x) 

Rearranging: 

yV(x) =
I(x + ∆x) − I(x)

∆x
 

dI(x)
dx

= yV(x) → equation 2 

)2) وأعوضھا بمعادلة (1بعد ما استخرجت معادلتین أنا بدي معادلة خاصة للجھد والتیار فقط راح أشتق معادلة (  

�
dV(x)

dx
= zI(x)�

,

 

d2V(x)
dx2

= z
dI(x)

dx
 

d2V(x)
dx2

= zyV(x) 

d2V(x)
dx2

− zyV(x) = 0 

V(x) = A1eγx + A2e−γx 

 𝐀𝐀𝟏𝟏 and 𝐀𝐀𝟐𝟐: integration constants  

𝛄𝛄𝟐𝟐 = 𝐳𝐳𝐳𝐳 ⟶ 𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩 𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜 

𝛄𝛄 = �𝐳𝐳𝐳𝐳  (𝐦𝐦−𝟏𝟏) 

𝛄𝛄 = 𝛂𝛂 + 𝐣𝐣𝛃𝛃 = �𝐳𝐳𝐳𝐳  

𝛂𝛂 → 𝐚𝐚𝐚𝐚𝐚𝐚𝐚𝐚𝐚𝐚𝐚𝐚𝐚𝐚𝐚𝐚𝐚𝐚𝐚𝐚𝐚𝐚 𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜  

𝛃𝛃 → 𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩 𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜  

 

بعوضھا   2ھي نفسھا معادلة رقم   dI(x)
dx

 

معادلة تفاضلیة تصف معدل تغیر 
المسافة وبس نحلھا بكون الجھد مع 

 استخرجنا الجھد.
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 بعد ما استخرجنا الجھد ضل علینا التیار وراح یكون نفس الخطوات السابقة:

KVL equation for the circuit: 

I(x) =
dV(x)

dx
×

1
z
 

I(x) =
A1eγx + A2e−γx

z γ⁄
 

z
γ

=
z
�zy

=
√z√z
√z�y

= �
z
y

= Zc  

I(x) =
A1eγx − A2e−γx

Zc
 

𝐙𝐙𝐜𝐜 = �
𝐳𝐳
𝐲𝐲

(Ω) → 𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜 𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢 

 
 

 بشتق معادلة الجھد الموجودة بالأعلى لتعویضھا 

A2و A1 بعد ما استخرجنا معادلة الجھد والتیار ضل علینا فقط نستخرج قیمة   

 وراح أفرض كالأتي:

x = zero , V(x) = VR, I(x) = IR 

A1 =
VR + ZcIR

2
 

A2 =
VR − ZcIR

2
 

بمعادلة الجھد والتیار:    A2و A1 بتعویض    

V(x) = �
VR + ZcIR

2 � eγx + �
VR − ZcIR

2 � e−γx 

I(x) = �
VR + ZcIR

2Zc
� eγx − �

VR − ZcIR
2Zc

� e−γx 
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V(x) = �
eγx + e−γx

2 �VR + Zc �
eγx − e−γx

2 � IR 

I(x) =
1
Zc
�

eγx − e−γx

2 �VR + �
eγx + e−γx

2 � IR 

Recognizing the hyperbolic functions cosh and sinh, 

V(x) = cosh(γx)VR + Zcsinh(γx)IR 

I(x) =
1
Zc

sinh(γx)VR + cosh(γx)IR 

 
Where x = l , V(l) = VS, I(l) = IS 

𝐕𝐕𝐒𝐒 = 𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜(𝛄𝛄𝛄𝛄)𝐕𝐕𝐑𝐑 + 𝐙𝐙𝐜𝐜𝐬𝐬𝐬𝐬𝐬𝐬𝐬𝐬(𝛄𝛄𝛄𝛄)𝐈𝐈𝐑𝐑 

𝐈𝐈𝐒𝐒 =
𝟏𝟏
𝐙𝐙𝐜𝐜
𝐬𝐬𝐬𝐬𝐬𝐬𝐬𝐬𝐕𝐕𝐑𝐑 + 𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜(𝛄𝛄𝛄𝛄)𝐈𝐈𝐑𝐑 

 

𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜(𝛄𝛄𝛄𝛄) = �
𝐞𝐞𝛄𝛄𝛄𝛄 + 𝐞𝐞−𝛄𝛄𝛄𝛄

𝟐𝟐 � =
𝟏𝟏
𝟐𝟐 �
𝐞𝐞𝛂𝛂𝛂𝛂∠𝛃𝛃𝛃𝛃 + 𝐞𝐞−𝛂𝛂𝛂𝛂∠ − 𝛃𝛃𝛃𝛃� 

𝐬𝐬𝐬𝐬𝐬𝐬𝐬𝐬(𝛄𝛄𝛄𝛄) = �
𝐞𝐞𝛄𝛄𝛄𝛄 − 𝐞𝐞−𝛄𝛄𝛄𝛄

𝟐𝟐 � =
𝟏𝟏
𝟐𝟐 �
𝐞𝐞𝛂𝛂𝛂𝛂∠𝛃𝛃𝛃𝛃 − 𝐞𝐞−𝛂𝛂𝛂𝛂∠ − 𝛃𝛃𝛃𝛃� 

:ABCD بعد ما أستخرجت المعادلات الأن بدي أستخرج قیم 

 VS
IS

= �A B
C D�

VR
IR

 

Sol: 

VS = AVR + BIR 

IS = CVR + DIR 
یجادلإمقارنة بین المعادلتین بالأعلى والأسفل  بنعمل  

A B C D 
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𝐀𝐀 = 𝐃𝐃 = 𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜(𝛄𝛄𝛄𝛄)  (𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝)  

𝐁𝐁 = 𝐙𝐙𝐜𝐜𝐬𝐬𝐬𝐬𝐬𝐬𝐬𝐬(𝛄𝛄𝛄𝛄) (Ω) 

𝐂𝐂 =
𝟏𝟏
𝐙𝐙𝐜𝐜

 𝐬𝐬𝐬𝐬𝐬𝐬𝐬𝐬(𝛄𝛄𝛄𝛄) (𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒) 

 the following identities can be used: 

cosh(αl + jβl) = cosh(αl)cos(βl) + jsinh(αl)sin(βl) 

sinh(αl + jβl) = sinh(αl)cos(βl) + jcosh(αl)sin(βl) 

 
Example 5.2 
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A three-phase 765-kV, 60-Hz, 300-km, completely transposed line has the 

following positive-sequence impedance and admittance: 

z = 0.0165 + j0.3306 Ω/km 

y = j4.674 × 10−6 S/km 
Assuming positive-sequence operation, calculate the exact ABCD parameters 

of the line. Compare the exact B parameter with that of the nominal π circuit. 
 

مش زي ما حلینا سابقا   Long  بدایة لازم نعرف إنھ حل معادلات ال 

تحت الجذر والألة حاسبة ما بتحسبھم لھیك راح نحل   لإنھ عندي كومبلكس
 بطریقة ثانیة غیر عن اللي قبل.  

Sol: 

Z = zl = (0.0165 + j0.3306) Ω/km × 300 km = 99.303∠87.14° Ω  

Y = yl = j4.674 × 10−6 S/km × 300 km = 1.4022 × 10−3 ∠90° S   

 

Zc  و γl  لأنھ ھم مفتاح حل السؤال كامل    ستخرج قیمةبنشي إأول  



 

Zc = �
z
y

= �Absolute �
z
y
�  ∠�

θz − θy
2 � 

Zc = �
z
y

= � 99.303
1.4022 × 10−3

∠ �
87.14° − 90°

2
� = 266.1∠ − 1.43° Ω 

 

γl = �zy  = �Absolute(zy) ∠�
θz + θy

2 � 

γl = �zy  = �99.303 × 1.4022 × 10−3 ∠�
87.14° + 90°

2
� 

γl = 0.3731∠88.57° = 0.00931 + j0.3730 

 

 

Zc  راح نعتمد ھاي الطریقة لإیجاد 

γl  راح نعتمد ھاي الطریقة لإیجاد 

باقي الخطوات بنحط قانون كل وحدة وبنشوف شو   ABCD طالب قیمة    

A = D = cosh(γl)    

cosh(γl) = �
eγl + e−γl

2 � 

cosh(γl) =
1
2 �

eαl∠βl + e−αl∠ − βl� 

γl = αl + jβl = 0.00931 + j0.3730 
αl = 0.00931 

βl = j0.3730 radian → 0.3730 ×
180
π

= 21.371° degree 

 

 

 
 
 

  

لو استخدمنا ھذا القانون مش راح یطلع معنا  
على الألة حاسبة جواب ف راح نستخدم 

.القانون الثاني  

Degree   ال حولت الزاویة لإنھ كل تعاملنا بالألة حاسبة مع 
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cosh(γl) =
1
2

(e0.00931∠21.371° + e−0.00931∠ − 21.371°) 

cosh(γl) = 0.9313∠0.209° 

A = D = 0.9313∠0.209° per unit   
 

B = Zcsinh(γl) (Ω) 

sinh(γl) =
1
2 �

eαl∠βl − e−αl∠ − βl� 

sinh(γl) =
1
2

(e0.00931∠21.371° − e−0.00931∠ − 21.371°) 

sinh(γl) = 0.3645∠88.63° 

B = 266.1∠ − 1.43° × 0.3645∠88.63° = 97∠87.2° Ω 

 

C =
1
Zc

 sinh(γl)  

C =
1

266.1∠ − 1.43° 
 × 0.3645∠88.63° = 1.37 × 10−3∠90.06° 𝑆𝑆  

  

b) B parameter with that of the nominal π circuit 

Bnominal π circuit  = Z = 99.303∠87.14° Ω  
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nominal π circuit 

السیركت الخاصة بالمیدیوم  ھاي 
 والعنصر

B=Z 



 

5.3 EQUIVALENT 𝛑𝛑 CIRCUIT 

 أخذنا بال Short وال Mediumإنھ في لكل وحدة دارة خاصة فیھا 

EQUIVALENT π CIRCUIT سمھا ھوإأیضا دارة خاصة فیھا و   Long  وعنا بال 

 

.أجزاءھاطبعا زي أي دارة مطلوب منا حفظ شكلھا ومعرفة   

 In equivalent π circuit: 

Z converted to Z, 

𝐙𝐙, = Zcsinh(γl)  = ZcF1 = 𝐙𝐙
𝐬𝐬𝐬𝐬𝐬𝐬𝐬𝐬(𝛄𝛄𝛄𝛄)

𝛄𝛄𝛄𝛄
(Ω) 

𝐅𝐅𝟏𝟏 =
𝐬𝐬𝐬𝐬𝐬𝐬𝐬𝐬(𝛄𝛄𝛄𝛄)

𝛄𝛄𝛄𝛄
 (𝐏𝐏𝐏𝐏𝐏𝐏 𝐮𝐮𝐮𝐮𝐮𝐮𝐮𝐮) 

𝐲𝐲,

𝟐𝟐
=

y
2

F2 =
y
2

tanh �γl
2�

�γl
2�

=
𝐭𝐭𝐭𝐭𝐭𝐭𝐭𝐭 �𝛄𝛄𝛄𝛄𝟐𝟐�

𝐙𝐙𝐜𝐜
 

𝐅𝐅𝟐𝟐 =
𝐭𝐭𝐭𝐭𝐭𝐭𝐭𝐭 �𝛄𝛄𝛄𝛄𝟐𝟐�

�𝛄𝛄𝛄𝛄𝟐𝟐�
(𝐏𝐏𝐏𝐏𝐏𝐏 𝐮𝐮𝐮𝐮𝐮𝐮𝐮𝐮) 
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𝐙𝐙, = 𝐁𝐁 = 𝐙𝐙𝐜𝐜𝐬𝐬𝐬𝐬𝐬𝐬𝐬𝐬(𝛄𝛄𝛄𝛄) (Ω) 
𝐲𝐲,

𝟐𝟐
=
𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜(𝛄𝛄𝛄𝛄) − 𝟏𝟏
𝐙𝐙𝐜𝐜𝐬𝐬𝐬𝐬𝐬𝐬𝐬𝐬(𝛄𝛄𝛄𝛄)

=
𝐀𝐀 − 𝟏𝟏
𝐁𝐁

 (𝐒𝐒) 

𝐀𝐀 = 𝐃𝐃 = 𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜(𝛄𝛄𝛄𝛄)  (𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝)  

𝐁𝐁 = 𝐙𝐙𝐜𝐜𝐬𝐬𝐬𝐬𝐬𝐬𝐬𝐬(𝛄𝛄𝛄𝛄) (Ω) 

𝐂𝐂 =
𝟏𝟏
𝐙𝐙𝐜𝐜

 𝐬𝐬𝐬𝐬𝐬𝐬𝐬𝐬(𝛄𝛄𝛄𝛄) (𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒𝐒) 

 

 ھم نفسھم ما علیھم تغییر. 

F1 and F2 ممكن ما استخدم القوانین اللي بالأعلى وأستخدم ھاي القوانیین بحالة ما طلب     

 

Example 5.3 

Compare the equivalent and nominal π circuits for the line in Example 5.2. 

. نفس مطالیب المثال السابق بس بدنا نوجد العناصر الجدیدة بھذا السكشن وحل على أي قانون عادي  

Sol: 

Z = zl = (0.0165 + j0.3306) Ω/km × 300 km = 99.303∠87.14° Ω  

Y
2

= yl
2

= j4.674×10−6

2
 S/km × 300 km = 7.011 × 10−4 ∠90° S   

 
F1 =

sinh(γl)
γl

=
0.3645∠88.63°
0.3731∠88.57° 

 = 0.9769∠0.06° Per unit 

F2 =
tanh �γl

2�

�γl
2�

=
cosh(γl) − 1

�γl
2� sinh(γl)

=
0.9313∠0.209° − 1

�0.3731∠88.57°
2 � × 0.3645∠88.63°

 

F2 = 1.012∠ − 0.03° Per unit 

 

 

- The equivalent π circuit is identical in structure to the nominal circuit. 
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Z, = Z F1 = 99.303∠87.14° ×  0.9769∠0.06° = 97∠87.2° Ω 
y,

2
=

y
2

F2 = 7.011 × 10−4 ∠90° × 1.012∠ − 0.03° = 7.095 × 10−4 ∠89.97° S  

 
5.4 LOSSLESS LINES 

واللي بنسمیھ غاما لكن ما حكیت عنھ كثیر فلازم نعرف شوي عن غاما    𝛄𝛄 بدایة السكشن السابق اعرفنا ھذا الرمز 

  (R, C, L, G) غاما بتأثر على نوع السلك زي ما شفنا لأنھ بالأصل بتتأثر ب 

 (𝛃𝛃)  وبیتا (𝛂𝛂 ) واعرفنا إنھا بتتكون من ألفا 

 Phase  وبیتا بتأثر على ال Amplitude ألفا بتأثر على ال  

Amplitude وزي ما بنعرف البور بنحسبھا من ال 

على فرض أرسلت جھد معین بأمبلیتیود معین وكانت ألفا تساوي صفر بالتالي راح یضل الأمبلیتیود زي ما ھي 
مرسل والمستقبل وھذا ھیك بنقدر نحكي إنھ ما في عندي أي خسارة بین اللحتى توصل الطرف الأخر و
LOSSLESS LINES   بنسمیھ

   (R,G)  والموضوع نفسھ بنطبق على 𝐙𝐙𝐜𝐜   احنا بنعرف إنھ البور الحقیقة تستھلك في 

(R,G) حكینا إنھ ما في عنا أي فقدان للطاقة بین المرسل والمستقبل فھذا یعني إنھ ما عنا  و  

(R,G)    وبدنا نشوف شو راح یصیر لما ما یكون عنا

 

 

 

 

 

 

- SURGE IMPEDANCE: 

For a lossless line, R =G =0, 

z = (0) + jωL (Ω/m) 

y = (0) + jωC (S/m)  

𝐙𝐙𝐜𝐜 = �
𝐳𝐳
𝐲𝐲

= �
𝐣𝐣𝐣𝐣𝐣𝐣
𝐣𝐣𝐣𝐣𝐣𝐣

= �𝐋𝐋
𝐂𝐂

 (Ω) 

- For a lossless line, the surge impedance is purely resistive and the propagation 
constant is pure imaginary. 
 

 𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜 𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢𝐢    ھاي نفسھا
SURGE IMPEDANCE لكن صار اسمھا 
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γ = �zy  = �jωL × jωC = jω√LC 

𝛄𝛄 = 𝐣𝐣𝐣𝐣 (𝐦𝐦−𝟏𝟏) 

γ = α + jβ = 0 + jω√LC  

𝛃𝛃 = 𝛚𝛚√𝐋𝐋𝐋𝐋 

 
 

- ABCD PARAMETERS: 

A(x) = D(x) = cosh(γx)    

but α = 0 → γ = jβ  

A = D = cosh(jβx) 

𝐀𝐀(𝐱𝐱) = 𝐃𝐃(𝐱𝐱) = 𝐜𝐜𝐜𝐜𝐜𝐜(𝛃𝛃𝛃𝛃) (𝐏𝐏𝐏𝐏𝐏𝐏 𝐮𝐮𝐮𝐮𝐮𝐮𝐮𝐮)  

 

B(x) = Zcsinh(γx)  

but α = 0 → γ = jβ  

B(x) = Zcsinh(jβx) = jZcsin(βx)(Ω) 

𝐁𝐁(𝐱𝐱) = 𝐣𝐣�
𝐋𝐋
𝐂𝐂
𝐬𝐬𝐬𝐬𝐬𝐬(𝛃𝛃𝛃𝛃)(Ω) 

 

C(x) =
1
Zc

 sinh(γx) 

but α = 0 → γ = jβ  

C(x) =
1
Zc

 sinh(jβx)  

𝐂𝐂(𝐱𝐱) =  𝐣𝐣
𝐬𝐬𝐬𝐬𝐬𝐬(𝛃𝛃𝛃𝛃)

�𝐋𝐋𝐂𝐂

 (𝐒𝐒)  
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- EQUIVALENT 𝛑𝛑 CIRCUIT 

 زي ما صار تغییر بالعناصر السابقة راح یصیر عنا تغییر أیضا بھاي السیركت 
B(X) = Z, = jZcsin(βl)  

𝐙𝐙, = 𝐣𝐣𝐗𝐗, (Ω) 

y,

2
=

y
2

tanh �γl
2�

�γl
2�

 

but α = 0 → γ = jβ  

y,

2
=

y
2

tanh �jβl
2 �

�jβl
2 �

=
y
2

sinh �jβl
2 �

�jβl
2 � cosh �jβl

2 �
 

𝐲𝐲,

𝟐𝟐
=
𝐣𝐣𝐣𝐣𝐂𝐂,𝐥𝐥
𝟐𝟐

 (𝐒𝐒) 

 

 
- In equivalent π circuits of lossless lines, 𝐙𝐙, is pure inductive, and 𝐲𝐲, is pure capacitive. 
Fill in the Blanks. 
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- WAVELENGTH 

wavelength is the distance required to change the phase of the voltage or 
current by 2π radians or 360°. 

𝛌𝛌𝛌𝛌 = 𝐕𝐕 

λ: WAVELENGTH 

f: Frequency 

V: velocity 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

وسرعتھا ر بالأسلاك لكن سرعة الأمواج ھي اللي بتتغیر وبكون تغییرھا حسب الوسط التردد ما بتغیّ 
رت أكید  تساوي سرعة الضوء لكن لو صار في تغییر على الوسط فالسرعة راح تقل فإذا السرعة تغیّ 

.الطول الموجي راح یتأثر مع ثبات التردد  

V(x) = A(x)VR + B(x)IR 

I(x) = C(x)VR + D(x)IR 

V(x) = cos(βx) VR + jZcsin(βx) IR 

I(x) =
jsin(βx)

Zc
 VR + cos(βx)

VR
Zc

 

When βx = 2π then 

x =
2π
β

 

𝛌𝛌 =
𝟐𝟐𝟐𝟐
𝛃𝛃

=
𝟐𝟐𝛑𝛑

𝛚𝛚√𝐋𝐋𝐋𝐋
=

𝟏𝟏
𝐟𝐟√𝐋𝐋𝐋𝐋

 (𝐦𝐦) 

𝐕𝐕 = 𝛌𝛌𝛌𝛌 =
𝟏𝟏
√𝐋𝐋𝐋𝐋

→ 𝐯𝐯𝐯𝐯𝐯𝐯𝐯𝐯𝐯𝐯𝐯𝐯𝐯𝐯𝐯𝐯 𝐨𝐨𝐨𝐨 𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩𝐩  

𝐅𝐅𝐅𝐅𝐅𝐅 𝐨𝐨𝐨𝐨𝐨𝐨𝐨𝐨𝐨𝐨𝐨𝐨𝐨𝐨𝐨𝐨 𝐥𝐥𝐥𝐥𝐥𝐥𝐥𝐥𝐥𝐥 𝐮𝐮𝐩𝐩 = 𝟑𝟑 × 𝟏𝟏𝟏𝟏𝟖𝟖 𝐚𝐚𝐚𝐚𝐚𝐚 𝐟𝐟 = 𝟔𝟔𝟔𝟔 𝐭𝐭𝐭𝐭𝐭𝐭𝐭𝐭 𝛌𝛌 =
𝟑𝟑 × 𝟏𝟏𝟏𝟏𝟖𝟖 
𝟔𝟔𝟔𝟔

= 𝟓𝟓𝟓𝟓𝟓𝟓𝟓𝟓 𝐤𝐤𝐤𝐤 

- The velocity of propagation of voltage and current waves along a lossless 
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- SURGE IMPEDANCE LOADING 

     Load تعني LOADINGو   Zc تعني  SURGE IMPEDANCE  اعرفنا بالأعلى إنھ 

LOSSLESS LINES واحنا  لسا  Zc   وقیمتھ 𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿 یعني شبكنا 

Reactive power ولما إنھ احنا لسا بھاي الحالة شغالین فالبور اللي راح تكون بالسلك ھي 

 Zc عض لما یكون الحمل  ب فالبور راح تكون موجود بالمحث والمواسع ف راح یلغوا   

- Surge impedance loading (SIL) is the power delivered by a lossless line to a 

load resistance equal to the surge impedance 𝐙𝐙𝐜𝐜 = �𝐋𝐋
𝐂𝐂
 

- Surge impedance load is the ideal load because 𝐼𝐼(𝑥𝑥) 𝑎𝑎𝑎𝑎𝑎𝑎 𝑉𝑉(𝑥𝑥) is uniform along line. 

V(x) = cos(βx) VR + jZcIR 

V(x) = cos(βx) VR + jZc
VR
Zc

 

𝐕𝐕(𝐱𝐱) = 𝐞𝐞𝐣𝐣𝐣𝐣𝐣𝐣 𝐕𝐕𝐑𝐑  

|V(x)| = |VR| 

|V(l)| = |VR| 

𝐕𝐕𝐒𝐒 = 𝐕𝐕𝐑𝐑 

- SIL, the voltage profile is flat. That is, the voltage magnitude at any point x along a 
lossless line at SIL is constant. 

I(x) =
jsin(βx)

Zc
 VR + cos(βx)

VR
Zc

 

𝐈𝐈(𝐱𝐱) = 𝐞𝐞𝐣𝐣𝐣𝐣𝐣𝐣  
𝐕𝐕𝐑𝐑 
𝐙𝐙𝐜𝐜

 

|𝐈𝐈(𝐱𝐱)| =
|𝐕𝐕𝐑𝐑|
𝐙𝐙𝐜𝐜

 (𝐀𝐀) 
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S(x) = P(x) + jQ(x) 

S(x) = �ejβx VR � �
ejβx VR 

Zc
�
∗

 

S(x) =
|VR|2

Zc
 

- the real power flow along a lossless line at SIL remains constant from the sending 
end to the receiving end. The reactive power flow is zero. 

𝐒𝐒𝐒𝐒𝐒𝐒 =
𝐕𝐕𝐫𝐫𝐫𝐫𝐫𝐫𝐫𝐫𝐫𝐫𝟐𝟐

𝐙𝐙𝐜𝐜
 

- rated voltage is used for a single-phase line and rated line-to-line voltage 

is used for the total real power delivered by a three-phase line> 

- VOLTAGE PROFILES 

على: لكن بالوضع العملي ما راح یكون ھیك ممكن یكون أكبر أو أقل وھذا بعتمد  Ideal load ھو SIL  اعرفنا إنھ 

1- line length  

2- line compensation 

وراح یكون إلھ عدة حالات.بالتالي الجھد ما راح یكون ثابت   

1- at no load 

2- SIL 

3- short circuit 

4- full load 

 



 

1- at no load 

IRNL = 0,          VNL(x) = cos(βx)VRNL 

The no-load voltage increases from VS = cos(βx)VRNL at the sending 

end to VRNL at the receiving end (where x =0). 

 

2- the voltage profile at SIL is flat 𝐕𝐕𝐒𝐒 = 𝐕𝐕𝐑𝐑 

 

3-For a short circuit at the load 

𝐕𝐕𝐑𝐑𝐑𝐑𝐑𝐑 = 𝟎𝟎 

V(x) = 0 + sin(βx)ZcIRSC → The voltage decreases  

 

4- The full-load voltage profile, which depends on the specification of full-load 

current, lies above the short-circuit voltage profile. 

 

بنلجأ  زي ما شفنا كل ما زاد طول السلك المشكلة بتزید ولحل ھاي المشكلة  

.   ل تقلبات الجھدتقلیل  compensation methods  ل 

 

 
- STEADY-STATE STABILITY LIMIT 
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𝐏𝐏 =
𝐕𝐕𝐑𝐑𝐕𝐕𝐒𝐒
𝐗𝐗, 𝐬𝐬𝐬𝐬𝐬𝐬(𝛅𝛅) (𝐖𝐖) 

δ = θVR − θVS 

in δ = 90° then the power: 

𝐏𝐏𝐦𝐦𝐦𝐦𝐦𝐦 =
𝐕𝐕𝐑𝐑𝐕𝐕𝐒𝐒
𝐗𝐗,  (𝐖𝐖) 
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In per unit: 

𝐏𝐏 = 𝐕𝐕𝐑𝐑.𝐩𝐩.𝐮𝐮𝐕𝐕𝐒𝐒.𝐩𝐩.𝐮𝐮(𝐒𝐒𝐒𝐒𝐒𝐒)
𝐬𝐬𝐬𝐬𝐬𝐬(𝛅𝛅)

𝐬𝐬𝐬𝐬𝐬𝐬 �𝟐𝟐𝟐𝟐𝟐𝟐𝛌𝛌 �
 (𝐖𝐖) 

in δ = 90° then the power: 

𝐏𝐏𝐦𝐦𝐦𝐦𝐦𝐦 = 𝐕𝐕𝐑𝐑.𝐩𝐩.𝐮𝐮𝐕𝐕𝐒𝐒,𝐩𝐩,𝐮𝐮
(𝐒𝐒𝐒𝐒𝐒𝐒)

𝐬𝐬𝐬𝐬𝐬𝐬 �𝟐𝟐𝟐𝟐𝟐𝟐𝛌𝛌 �
 (𝐖𝐖) 

 
Example 5.4 

Neglecting line losses, find the theoretical steady-state stability limit for the 300-km 
line in Example 5.2. Assume a 266.1-Ω surge impedance, a 5000-km wavelength, 
and VS = VR = 765 kV. 

Sol: 

1- surge impedance 

SIL =
Vrated2

Zc
 

SIL =
765 k2

266.1
= 2199 MW 

 

2- the theoretical steady-state stability limit for the 300-km line 

Pmax = VR.p.uVS,p,u
(SIL)

sin �2πl
λ �

 

Pmax = 1 × 1
2199 M

sin �2π × 300
5000k �

 = 5974 MW 

 
 

VS = VR  اخترت ھذا القانون لأنھ 

Load = ZC ویعني ھذا أن 
 

Vp.u =
Vactual
Vbase

 

Vp.u =
765
765

= 1 per unit 

 



 

5.5 MAXIMUM POWER FLOW 
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Maximum power flow for lossless lines, is derived here in terms of the ABCD 
parameters for lossy lines. The following notation is used: 

𝐀𝐀 = 𝐜𝐜𝐜𝐜𝐜𝐜𝐜𝐜(𝛄𝛄𝛄𝛄) = 𝐀𝐀∠𝛉𝛉𝐀𝐀 

𝐁𝐁 = 𝐙𝐙, = 𝐙𝐙,∠𝛉𝛉𝐙𝐙 

𝐕𝐕𝐒𝐒 = 𝐕𝐕𝐒𝐒∠𝛅𝛅,   𝐕𝐕𝐑𝐑 = 𝐕𝐕𝐑𝐑∠𝟎𝟎° 

𝐏𝐏𝐑𝐑 =
𝐕𝐕𝐑𝐑𝐕𝐕𝐒𝐒
𝐙𝐙,  𝐜𝐜𝐜𝐜𝐜𝐜(𝛉𝛉𝐙𝐙 − 𝛅𝛅)  −

𝐀𝐀𝐕𝐕𝐑𝐑𝟐𝟐

𝐙𝐙, 𝐜𝐜𝐜𝐜𝐜𝐜(𝛉𝛉𝐙𝐙 − 𝛉𝛉𝐀𝐀) 

𝐐𝐐𝐑𝐑 =
𝐕𝐕𝐑𝐑𝐕𝐕𝐒𝐒
𝐙𝐙,  𝐬𝐬𝐬𝐬𝐬𝐬(𝛉𝛉𝐙𝐙 − 𝛅𝛅)  −

𝐀𝐀𝐕𝐕𝐑𝐑𝟐𝟐

𝐙𝐙, 𝐬𝐬𝐬𝐬𝐬𝐬(𝛉𝛉𝐙𝐙 − 𝛉𝛉𝐀𝐀) 

 

Note that for a lossless line: 

𝛉𝛉𝐀𝐀 = 𝟎𝟎°, 𝐁𝐁 = 𝐙𝐙, = 𝐣𝐣𝐗𝐗,,    𝐙𝐙, = 𝐗𝐗,,   𝛉𝛉𝐙𝐙 = 𝟗𝟗𝟗𝟗° then the power: 

PR =
VRVS

X, cos(90 − δ) −
AVR2

X, cos(90°) 

𝐏𝐏𝐑𝐑 =
𝐕𝐕𝐑𝐑𝐕𝐕𝐒𝐒
𝐗𝐗, 𝐬𝐬𝐬𝐬𝐬𝐬(𝛅𝛅) 

𝐏𝐏𝐑𝐑𝐑𝐑𝐑𝐑𝐑𝐑 =
𝐕𝐕𝐑𝐑𝐕𝐕𝐒𝐒
𝐙𝐙, −

𝐀𝐀𝐕𝐕𝐑𝐑𝟐𝟐

𝐙𝐙, 𝐜𝐜𝐜𝐜𝐜𝐜(𝛉𝛉𝐙𝐙 − 𝛉𝛉𝐀𝐀) 
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Example 5.5 

Determine the theoretical maximum power, in MW and in per-unit of SIL, that 
the line in Example 5.2 can deliver. Assume VS = VR = 765 kV. 

Sol: 
A = 0.9313∠0.209° 

B = Z, = 97.0∠87.2° Ω 

ZC = 266.1 Ω 

PRmax =
VRVS

Z, −
AVR2

Z, cos(θZ − θA) 

PRmax =
765 k2

97
−

0.9313 × 765 k2

97
cos(87.2° − 0.209°) = 5738 MW 

SIL =
Vrated2

Zc
=

765 k2

266.1
= 2199 MW 

PRmax =
5738
2199 

= 2.61 per unit 

 

This value is about 4% less than that found in Example 5.4, where losses 
were neglected. 



 

Problems Ch5 
 5.1) A 25-km, 34.5-kV, 60-Hz three-phase line has a positive-sequence series 
impedancez = 0.19 + j0.34 Ω/km. The load at the receiving end absorbs 10 
MVA at 33 kV. Assuming a short line, calculate: (a) the ABCD parameters, (b) the 
sending-end voltage for a load power factor of 0.9 lagging, (c) the sending-end 
voltage for a load power factor of 0.9 leading. 

    Sol: 

Z = zl = 0.19 + j0.34 Ω/km × 25 (km) = 9.737∠60.8° Ω 

 

a) the ABCD parameters 

A = 1 , B = 9.737∠60.8° Ω, C = 0 S, D = 1 

 

b) the sending-end voltage for a load power factor of 0.9 lagging 

VR =
33 k
√3

= 19.05 k Line − neutral 

S = 3VRIR∗ → IR =
S∗

3V
 

IR =
S∗

3VR
=

10 × 106∠ − cos−1(0.9)
3 × 19.05 k

= 0.175 k∠ − 25.84 

VS = AVR + BIR 

VS = 1 × 19.05 k + (9.737∠60.8°) × (0.175 k∠ − 25.84°) 

VS = 20.47 ∠2.73° kV 

VS L−L = 20.47 × √3 = 35.45 kV 
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c) the sending-end voltage for a load power factor of 0.9 leading. 

VR =
33 k
√3

= 19.05 k Line − neutral 

S = 3VRIR∗ → IR =
S∗

3V
 

IR =
S∗

3VR
=

10 × 106∠cos−1(0.9)
3 × 19.05 k

= 0.175 k∠25.84 

VS = AVR + BIR 

VS = 1 × 19.05 k + (9.737∠60.8°) × (0.175∠25.84°) 

VS = 19.23 ∠5.076° kV 

VS L−L = 19.23 × √3 = 33.3 kV 

 

 
5.31) A 500-kV, 300-km, 60-Hz three-phase overhead transmission line, assumed to 
be lossless, has a series inductance of 0.97 mH/km per phase and a shunt 
capacitance of 0.0115 μF/km per phase. (a) Determine the phase constant β, the 
surge impedance ZC, velocity of propagation n, and the wavelength λ of the line. 
(b) Determine the voltage, current, real and reactive power at the sending end, and 
the percent voltage regulation of the line if the receiving-end load is 800 MW at 0.8 
power factor lagging and at 500 kV. 

Sol: 
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a) Determine the phase constant β, the surge impedance ZC, velocity of 
propagation n, and the wavelength λ of the line  

β = ω√LC = 2π × 60�0.97 × 0.0115 × 10−9 = 0.001259 rad/km 

Zc = �L
C

 = � 0.97 × 10−3

0.0115 × 10−6
= 290.43 Ω 
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V =
1
√LC

=
1

√0.97 × 0.0115 × 10−9
= 2.994 × 105 km/s 

λf = V → λ =
V
f

=
2.994 × 105

60
= 4990 km 

 

b) Determine the voltage, current, real and reactive power at the sending end, and 
the percent voltage regulation of the line if the receiving-end load is 800 MW at 0.8 
power factor lagging and at 500 kV. 

VR =
500 k
√3

= 288.657 kV 

P = 3VR L−N IR cos(θV − θI) 

IR =
800 M ∠cos−1(0.8)
3 × 288.657 k × 0.8

= 1154.7∠ − 36.87° 

 

V𝑆𝑆 = cos(βl) VR + jZcsin(Bl)IR 

 

 

VS = cos(21.641)  × 288.657 k + j290.43 × sin(21.641) × 1154.7∠ − 36.87° 

VS = 356.53∠16.1° kV 

VS L−L = 356.53 × √3 = 617.53 kV 

 

 

 

 

β = 0.001259 rad/km 

βl = 0.001259 rad/km × 300km 

βl = 0.3777 rad → degree 

βl = 0.3777 ×
180
π

= 21.641° 
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IS = j
1
Zc

sin(Bl) VR + cos(βl)IR 

IS = j
1

290.43
× sin(21.641)  × 288.657 k + cos(21.641) × 1154.7∠ − 36.87° 

IS = 902.3∠ − 17.9° A 

 

S = 3VSIS∗ 

S = 3 × 356.53∠16.1° k × 902.3∠ + 17.9° = 800 MW + j539.672 MVAR 

 

Voltage regulation =
|VS|

A − |VR|
|VR|

× 100% 

 

Voltage regulation =
356.53 k
0.9295 − 288.657 k

288.657 k
× 100% = 32.87% 

 

 

In lossless line 

A = cos(βl) 

A = cos(21.641) = 0.9295 



 

APPENDIX 


